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Figure 7.3: The mass flows in the refueling and production section. The mass
flow in the production section is induced by compressor 1 while the mass flow in
the refueling section is induced by either the reduction valve or compressor 2.
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Figure 7.4: The cooling demand in heat exchanger 1, 2, 8 and the intercooler in
compressor 1.
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Figure 7.5: The compressor work in compressor 1 and compressor 2 during a
refueling.

7.2.1 Discussion

Figure 7.1a presents the pressure evolution in the two tanks at the station. The
pressure in the storage tank decreases during the refueling as mass is leaving the
tank. However, the pressure decrease is very modest as mass is also added to the
storage tank by compressor 1 in the production section. The pressure in the vehi-
cle tank increases according to the APRR, and the target pressure is reached after
150.1 seconds. From Figure 7.1b, it can be seen that the deviation from the APRR
increases as the switching limit approaches. This occurs because the pressure dif-
ference across the reduction valve is not sufficient to maintain the APRR anymore.
However, the largest deviation is 0.7 % and hence within the deviation allowance
set by the J2601 (10%). Except for this deviation, the pressure follows the APRR
tightly.

In the model, the pressure losses in pipes and across components (except for the
reduction valve) have not been considered. In order to see whether this assump-
tion is reasonable, simple pressure loss calculations have been performed for the
pipes in the refueling section. This section was selected as it has the largest mass
flow and seemingly the highest pressure losses. The calculations are presented in
Appendix E. Pressure losses during a refueling were found for the pipe segments be-
tween: 1) the storage tank and the reduction valve/compressor, and 2) the valve/-
compressor and heat exchanger 3. Two different inner pipe diameters were used in
the calculations (0.01 and 0.008 m). For the second pipe segment considered (i.e.
between the valve/compressor and the heat exchanger), the pressure loss at the
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start of the refueling is significantly high (0.6 MPa/m for a diameter of 0.01 m and
1.8 MPa/m for a diameter of 0.008 m). This is because of the large initial mass
flow induced by the reduction valve. As the refueling proceeds and the mass flow
decreases, the pressure loss in the pipe declines rapidly. The initial pressure loss
in the first pipe segment is small compared to that of the second pipe segment.
Similar in both pipe segments is that the pressure losses are quite low at the end
of the refueling. Nevertheless, the high initial pressure losses in the second pipe
segment indicate that the pressure losses at the station cannot be neglected. In ad-
dition, these calculations were only performed for pressure losses in a straight pipe.
Typically, the pipes will have bends and also include several additional components
such as mass flow meters and valves. These components will also contribute to the
pressure losses occurring during a refueling. Furthermore, there will also be a pres-
sure loss in the vehicle. This pressure loss depends on the vehicle type, and is not
allowed to exceed 20 MPa [4] [5]. Such high pressure losses will have a great impact
on the refueling in terms of mass flow and refueling time and should therefore be
included in the model.

The temperature evolution in the station is given in Figure 7.2a and Figure 7.2b.
In the electrolyzer, the temperature is kept fixed at 90°C during the refueling by
the internal heat exchanger. From Figure 7.2b, it can be seen that the temperature
after the first compression stage in compressor 1 is also fixed. This is because the
compression ratio in the first stage is constant. The outlet temperature of compres-
sor 1 (i.e. after the second compression stage), on the other hand, decreases as the
refueling proceeds. As was discussed in the previous paragraph, the pressure in the
storage tank decreases, and thereby, the compression ratio in the second stage will
also decrease. A smaller compression ratio results in a lower outlet temperature.

Figure 7.2a shows that the temperature in the storage tank decreases during the re-
fueling. As mass is leaving the tank, the remaining gas expands due to a reduction
in pressure. This expansion is reversible and adiabatic (i.e. isentropic). Contrary
to the Joule-Thomson effect where the enthalpy is fixed, the entropy is constant in
this case, and the temperature will decrease. In addition to the hydrogen leaving
the tank, there is also some hydrogen entering the tank. Since more hydrogen is
leaving than entering, the hydrogen flowing into the tank will not have a big impact
as there will be no compression of the hydrogen already in the tank. Additionally,
the hydrogen holds a constant temperature upon entering (i.e. ambient tempera-
ture).

In the modeling phase it was assumed that the temperature in the storage tank
would remain close to ambient temperature during a refueling. At the end of the
refueling, the temperature in the storage tank is 8°C. The temperature difference
between the surroundings and the contents of the tank is small (7°C). Hence, the
assumption about no or very little heat transfer with the surroundings is a good
assumption and will not have a big effect on the results when considering a single
refueling. If a case where several vehicles refuel in a row is to be investigated,
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however, it may be necessary to implement heat transfer between the storage tank
and the surroundings. This is because, during several refuelings in a row, the tem-
perature in the tank will continue to decrease and the temperature difference to
the surroundings will increase.

When the gaseous hydrogen is expanded through the reduction valve, the tem-
perature increases due to the reverse Joule-Thomson effect. As the refueling con-
tinues, however, the outlet temperature of the valve decreases. This is because the
pressure difference across the valve is reduced as the pressure in the vehicle tank
is increasing and pressure in the storage tank is decreasing. The station switches
from the reduction valve to the compressor at 56.1 seconds. The pressure differ-
ence across the reduction valve is then 0.5 MPa. Figure 7.2a shows that the outlet
temperature of the compressor is significantly higher than that of the reduction
valve. This occurs because the heat of compression is more significant than the
reverse Joule-Thomson effect. As the refueling proceeds, the outlet temperature
increases greatly because of the increasing compression ratio between the storage
tank and the vehicle tank. During the modeling process, it was assumed that the
compression is adiabatic. In reality, there will be a heat transfer from the compres-
sor to the surroundings due to the high temperatures achieved in the compression.
Hence, the outlet temperature of the compressor will be lower, and thereby also the
cooling demands in the heat exchangers associated to the compressors. According
o [12], however, this heat loss is typically 5% or less. Therefore, this assumption
does not have a big impact on the obtained results.

The temperature in the vehicle tank increases rapidly the first 10 seconds of the
refueling before it levels out and continues to increase with an almost fixed slope.
The reason for this behavior is that the mass flow is considerably higher at the
beginning of the refueling thus resulting in a larger heat of compression in the
tank. In the modeling, it has been assumed that the filling is adiabatic. That is,
it is assumed that no heat transfer to the surroundings will take place during the
refueling time. However, the refueling lasts for 150.1 seconds and the final tem-
perature in the tank is 75°C. Because of the long refueling time and the high final
temperature, some heat will be dissipated to the tank walls and into the surround-
ings. Hence, the model will overestimate the final temperature during a refueling.
This implies that the state of charge is underestimated as a higher temperature will
result in a lower density. Therefore, heat exchange between the vehicle tank and
the surroundings should be included in the model in order to make it more realistic.

Figure 7.3 shows the mass flows in the production and refueling sections. In the
production section, the mass flow is induced by compressor 1 and is fixed. The
mass flow in the refueling section, on the other hand, varies during the refueling.
At the beginning of the refueling when the reduction valve is utilized, the mass flow
declines almost constantly towards the time of the switch. The decline is due to the
decreasing pressure difference across the reduction valve, resulting from discharg-
ing the storage tank and charging the vehicle tank. Right before the point of the
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switch, the mass flow declines rapidly. This occurs because the pressure difference
across the valve is no longer sufficient to keep up the necessary mass flow for main-
taining the APRR. The deviation of the storage tank pressure from the APRR in
Figure 7.1b is a result of this rapidly declining mass flow. At the switch, however,
the mass flow increases as the compressor starts working. The large increase is to
compensate for the low mass flow rate right before the switch. After the switch, the
mass flow decreases rapidly for a couple of seconds before establishing a constant
decline rate. This decline is a result of the reduced compressibility of the hydrogen
gas in the vehicle tank as the pressure increases.

Figure 7.4 presents the cooling demands of the heat exchangers at the station
(excluding the internal heat exchanger in the electrolyzer). The cooling demand in
heat exchanger 1 is constant during the refueling because: 1) the operating tem-
perature of the electrolyzer is fixed, 2) the heat exchanger cools the hydrogen down
to the ambient temperature (which is also fixed during the refueling) and 3) the
mass flow in the production section is constant. The heat exchanger following the
first compression stage in compressor 1 (i.e. the intercooler), operates also with
a constant cooling demand. This is due to the fixed mass flow and compression
ratio of the first stage which result in a constant outlet temperature as shown in
Figure 7.2b. Heat exchanger 2, however, does not have a constant cooling demand.
The inlet temperature of heat exchanger 2 is the outlet temperature of compres-
sor 1 which varies during the refueling as was discussed above. However, as can
be seen from Figure 7.4, this variation is very small compared to the variation in
the cooling demand of heat exchanger 3. When the reduction valve is utilized , the
cooling demand curve in heat exchanger 3 is similar to the mass flow curve for the
reduction valve. The cooling demand decreases towards the switch, and around
the switch, the cooling demand is significantly lower than it was at the start of the
refueling. This is because the outlet temperature of the reduction valve decreases
due to the decreasing pressure difference across the valve.

When the compressor starts, the cooling demand increases considerably. As men-
tioned before, this occurs because the heat of compression is more significant than
the reverse Joule-Thomson effect. The cooling demand curve for when the com-
pressor is utilized is not similar to the compressor mass flow curve, but resembles
the compressor’s outlet temperature curve instead. Even though the cooling de-
mand varies during the refueling, the magnitudes of the maximum cooling demand
for the two process lines do not differ significantly (57 and 66 kW for the reduction
valve and the compressor, respectively). These are found at the beginning and end
of the refueling. In Figure 7.2a, it can be seen that the corresponding outlet tem-
peratures of the two process lines differ greatly. The maximum outlet temperature
of the compressor is 123°C while the maximum outlet temperature of the reduction
valve is 26°C. An explanation is that the mass flow is considerably lower when using
the compressor compared to when the valve is used. The lower mass flow compen-
sates for the higher temperature. The cooling demand when the compressor is in
use will therefore not be remarkably higher than when the reduction valve is in use.
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The performed work in the two compressors are given in Figure 7.5. The work
input to compressor 1 decreases as the refueling proceeds. This is because the
compression ratio is reduced as the pressure in the storage tank decreases. Com-
pressor 2 starts working at the time of the switch, and the work input increases
because of the increased compression ratio between the two tanks.

7.3 Behavior during refilling of storage tank

After the refueling of the vehicle tank is aborted, the electrolyzer continues the
production of hydrogen until the pressure in the storage tank reaches its nominal
pressure. A refilling has been simulated with the same parameters as the refueling
presented in the previous section. The time required for refilling the storage tank
after a refueling at an ambient temperature of 15°C is 193.7 seconds. Note that
this refilling time corresponds to the time from the refueling is complete to the
storage tank is back at its nominal pressure. Refilling will also occur during the
refueling, however, this was included in the previous section.

Figure 7.6 presents the pressure evolution in the storage tank along with the mass
flow in the production section during the refilling. The cooling demand of heat
exchanger 2, the performed work in compressor 1 and the temperature evolution
in the storage tank during a refilling are given in Figure 7.7.
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Figure 7.6: The pressure evolution in the storage tank and the mass flow in the
production section during a refilling.
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Figure 7.7: The cooling demand in heat exchanger 2, the performed work in
compressor 1 and the temperature evolution in the storage tank during a refilling.
The ambient temperature is 15°C.

The cooling demands in heat exchanger 1, the intercooler and the electrolyzer along
with the power input to the electrolyzer remain the same as during the refueling
and are therefore not included in the figure.

7.3.1 Discussion

Similar as during the refueling, the mass flow in the production section is fixed.
Because of this, the refilling time depends on the refueling. That is, the refilling
time depends on how much hydrogen is withdrawn from the storage tank during
the refueling. This again, relies on the initial pressure in the vehicle tank and the
ambient temperature. The effect these factors have on the refilling and on the
refueling in general are discussed in Section 7.6. The pressure in the storage tank
increases linearly until it reaches the nominal pressure after 193.7 seconds. The
linear pressure increase is due to the fixed mass flow and that gaseous hydrogen
behaves quite as an ideal gas in this pressure range.

As can be seen in Figure 7.7, the cooling demand in heat exchanger 2 increases
slightly as the pressure in the storage tank, and thereby the compression ratio,
increases. The increased compression ratio results in a higher outlet temperature,
again resulting in a greater cooling demand. The work input in compressor 1 fol-
lows the same trend as the cooling demand in heat exchanger 2. During a refueling,
the temperature in the storage tank decreases with time because of the pressure
reduction. Conversely, during a refilling, the temperature increases. As explained
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for the vehicle tank in the previous section, the hydrogen mass entering the tank
compresses the hydrogen already in the tank. The temperature will then increase
because of the heat of compression.

7.4 Behavior when only the compressor is used
during refueling

A refueling where the initial pressure in the vehicle tank is higher than the storage
tank pressure has been simulated. This implies that only the compressor is used
during the refueling. Except for the different initial vehicle tank pressure, the
simulation has been performed with the model parameters given in Table 7.2. The
initial pressure is set to 30 MPa which gives a refueling time of 83.1 seconds.
Figure 7.8 presents the pressure evolution in the storage tank and the vehicle tank
along with the APRR during the refueling. The mass flow in the refueling section
is also included in the figure. The temperatures in the two tanks and at the outlet
of compressor 2 are presented along with the cooling demand of heat exchanger 3 in
Figure 7.9. The production section is not affected by the change in initial pressure
in the vehicle tank and its behavior remains similar as in the regular refueling
presented in Section 7.2.
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Figure 7.8: The pressure evolution in the vehicle tank and storage tank along

with the APRR for the given conditions. The mass flow in the refueling section is
also included. In this refueling, only compressor 2 is utilized.
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Figure 7.9: The temperatures in the storage and vehicle tanks along with the outlet
temperature of compressor 2 when only compressor 2 is applied in the refueling. The
cooling demand in heat exchanger 3 is also included.

7.4.1 Discussion

If the vehicle tank has an initial pressure of 29.5 MPa or higher, the refueling will be
performed only by the compressor. This is because the pressure difference between
the storage tank and vehicle tank is equal to or less than the defined switching
pressure difference value?. From Figure 7.8 it can be seen that the pressure in the
vehicle tank deviates slightly from the APRR the first 10 seconds of the refueling
but follows the APRR tightly after. The deviation (2%), however, is within the
allowed deviation. It occurs because the controller bias of the compressor controller
is set by the mass flow in the reduction valve, which in this case is zero. Therefore,
the controller bias is set to zero as well, resulting in a slower controller initially.
The mass flow in the refueling section increases rapidly from zero mass flow and
peaks after approximately 8 seconds before it starts declining. The value of the
peak is approximately 0.045 kg/s and is lower than the peak value of the com-
pressor flow in the regular refueling (0.05 kg/s). This is because less hydrogen is
needed during the refueling because of the higher initial pressure in the vehicle tank.

The temperature in the storage tank decreases similar as in a regular refueling
where both process lines are utilized. However, the final temperature in the stor-
age tank is higher (12°C) because less mass is withdrawn. Compared to the regular
refueling, the temperature in the vehicle tank increases more slowly. In the regular

2.0.5 MPa in these simulations.
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refueling, the vehicle tank temperature increases rapidly at the start before leveling
out. This is because of the higher initial mass flow initiated by reduction valve. The
final temperature in the vehicle tank during this refueling is lower (47°C) because
less hydrogen is refueled compared to the regular refueling. The cooling demand
in heat exchanger 3 increases rapidly at the start of the refueling, similar to the
mass flow. Approximately at the time of the mass flow peak, the cooling demand
levels out and increases slightly to the end of the refueling. This slight increase
is a result of the rapidly increasing outlet temperature of the compressor and the
decreasing mass flow.

7.5 Behavior when including heat exchanger 4

Section 4.4 introduced an alternative design in which a heat exchanger is included
after the compressor in the refueling section (Case III). The new cooling demands
in heat exchanger 3 and in the introduced heat exchanger (i.e. heat exchanger 4)
are presented in Figure 7.10. The ordinary cooling demand of heat exchanger 3 is
also included for comparison. Since the cooling demands in heat exchanger 1, heat
exchanger 2 and the intercooler remain the same as presented in Figure 7.4, these
are not included in the figure.
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Figure 7.10: The cooling demand in heat exchanger 3 and heat exchanger 4
together with the ordinary cooling demand in heat exhanger 3.
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7.5.1 Discussion

The inclusion of heat exchanger 4 does only affect the cooling demand in heat ex-
changer 3 when compressor 2 is utilized during the refueling. The behavior of the
rest of the station is identical to its behavior in a regular refueling. The new cool-
ing demand in heat exchanger 3 is therefore similar to the regular cooling demand
when the reduction valve is used in the refueling. After the switch, however, the
new cooling demand in heat exchanger 3 differs from the regular cooling demand
because of the cooling occurring in heat exchanger 4. The new cooling demand
curve is similar to the compressor 2 mass flow curve given in Figure 7.3. In the
same manner, the cooling demand curve of heat exchanger 4 is comparable to the
cooling demand curve of the regular heat exchanger 3 when the compressor is uti-
lized.

As the refueling station already has the possibility of cooling the hydrogen down to
the ambient temperature with cooling water, heat exchanger 4 should be included
in the regular design. This will, as discussed in Section 4.4, contribute to a lower
required heat input to the generator in an absorption refrigeration process. Even
though the absorption refrigeration process is not achievable at the station, the
inclusion of heat exchanger 4 would result in a lower work input to a conventional
compression refrigeration process.

7.6 Effect of ambient temperature and
initial vehicle tank pressure

Simulations with different ambient temperatures and initial vehicle tank pressures
were performed to see what influence these factors have on the refueling. Addi-
tionally, the simulations were performed in order to examine whether the model
and the controllers are behaving correctly for different conditions. All simulations
are run in accordance with the SAE TIR J2601 look-up tables. The APRR is
similar in all cases (0.47 MPa) except for when the ambient temperature is 30°C
(0.46 MPa/s). The target pressures are provided in [4]. Table 7.3 presents the
SOCs, the refueling and refilling times, and the final temperatures in the vehicle
tank for the different ambient temperatures. The initial pressure in the vehicle tank
during these simulations is 2 MPa. The same parameters are given in Table 7.4
for different initial vehicle tank pressures when the ambient temperature is 15°C.
Note that these results are independent on whether heat exchanger 4 is included
in the model or not.
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Table 7.3: The state of charge (SOC), the refueling and refilling times, and the
final temperature in the vehicle tank for different ambient temperatures. The initial
vehicle tank pressure is 2 MPa.

Ambient State of charge Refueling Vehicle tank Refilling
temperature [°C] (%] time [s]  temperature [°C]  time 5]
15 89.63 150.1 75.1 193.7
20 90.09 151.4 75.5 194.5
25 90.36 152.2 75.7 195.0
30 90.74 157.8 76.2 191.2

Table 7.4: The state of charge (SOC), the refueling and refilling times, and the
final temperature in the vehicle tank for different initial pressures in the tank. The
ambient temperature is 15°C.

Initial pressure State of charge Refueling Vehicle tank Refilling

[MPa) [%] time [s] temperature [°C]  time [s]
2 89.17 148.8 74.8 193.7
5 89.84 142.9 72.2 177.9
10 89.98 130.3 67.1 152.9
20 90.93 106.7 57.2 110.6
30 91.91 83.1 47.3 76.0

7.6.1 Discussion

As can be seen from Table 7.3, the results for the different ambient temperatures
do not differ significantly. This is as expected since the simulations have been run
in accordance with the SAE TIR J2601. The state of charge, the refueling time
and the vehicle tank temperature all increase with increasing ambient temperature.
The refilling time increases for the three first ambient temperatures, however, de-
creases when the ambient temperature is 30°C. This is because the APRR is smaller
compared to the other ambient temperatures. Hence, less hydrogen is withdrawn
from the storage tank during the refueling and less hydrogen has to be refilled. The
reason for the smaller APRR is to increase the refueling time and hence decrease
the mass flow rate in order to limit the heat of compression occurring in the vehicle
tank. This is to ensure that the final temperature in the vehicle tank is below the
maximum temperature limit.

Compared to the results for the different ambient temperatures, the results for

the varying initial vehicle tank pressure differ more. The SOC increases slightly
with increasing initial pressure, while the refueling and refilling times and the final
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vehicle tank temperature all decrease. The latter trends are because less hydrogen
is refueled when the initial vehicle pressure is higher. Hence, a shorter refueling
time is required to reach the target pressure. The smaller amount of hydrogen
entering the vehicle tank also results in a lower final temperature in the tank. This
also implies less hydrogen must be refilled in the storage tank, thus the refilling
time will also be lower. An initial pressure of 30 MPa is special since this results
in a refueling utilizing only the compressor. This was discussed in Section 7.4.

7.7 Summary

Based on the behavior presented in this chapter, the model is working fine. Various
conditions such as different initial vehicle tank pressures, ambient temperatures and
APRRs have been tested. The implemented controllers are able to track the APRR
both when the reduction valve and compressor are utilized in a refueling but also
when only the compressor is utilized. However, in order to make the model more
realistic, heat transfer in the vehicle tank and possibly also in the storage tank
should be implemented. Additionally, pressure losses at the station and in the
vehicle should also be considered.
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8 | Results and discussion:
Absorption refrigeration

This chapter presents the results from the four cases presented in Section 4.4. All
simulations have been performed with an initial vehicle pressure of 2 MPa and
an ambient temperature of 15°C corresponding to an APRR of 0.47 MPa/s [4].
According to Table 4.1 and Table 4.2, the required temperature of the input heat
is 150°C and the coefficient of performance is 0.45, respectively. The required
temperature corresponds to a pressure of 0.48 MPa. Note that the presented values
are from a refueling only. That is, the heat generated during the corresponding
refilling is not included. Appendix F presents the results from the four cases for
ambient temperatures of 20, 25 and 30°C.

8.1 Case I: Use heat from only one heat source

The average and maximum cooling demand in heat exchanger 3 (Q Hx3), the re-
quired heat input to the generator (Qg) and the corresponding heat removal in the
electrolyzer (QEL), heat exchanger 2 (QH x2) and the intercooler in compressor 1
(Q1c) are presented in Table 8.1. The maximum cooling demand occurs at the
end of the refueling. Note that the numbers in parenthesis correspond to the useful
heat which can be utilized for heating at the required driving temperature. The
temperatures at which the waste heat is generated are given in Table 8.2.

8.2 Case II: Increase the temperature of waste
heat from electrolyzer with waste heat from
heat exchanger 2 and intercooler

The required steam flow to the generator (m,.4), the available flow in the elec-

trolyzer heat exchanger (mgy) and the actual and required steam flow coming

from the intercooler and heat exchanger 2 (Mmux act, MHEX req) are summarized in

Table 8.6. The temperature which the mixed steam flow obtains (Tyx) is also
included. The values are given for both maximum and average cooling demand.
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Similar to the previous case, the maximum cooling demand occurs at the end of
the refueling. More detailed tables are given in Appendix F.

Table 8.1: The mazimum and average cooling demand for heat exchanger 3
(Qrxs) and the required heat input to the generator (Qg) with the corresponding
heat removal in the electrolyzer (QEL), heat exchanger 2 (QHXQ) and intercooler
(QIC) for an ambient temperature of 15° C. The numbers in parenthesis correspond
to the heat which can be utilized for heating at the required temperature.

QHX3 QG QEL QHX2 QIC

kW] kW] [kW] kW] [kW]
Maximum 66 146 2395 (0) 47 (37) 9 (39)
Average 52 116 48 (38)

Table 8.2: The required temperature of the heat input (Ty.q) along with the temper-
atures of the available heat removed from the electrolyzer (Tgy ), heat exchanger 2
(Trxz2) and the intercooler (Trc) for an ambient temperature of 15°C.

Treq Ter Tux2 Tic
[°C] [°C]  [°C]  [°C]
Maximum 201

150 90 213
Average 206

Table 8.3: The required steam flow to the generator (My.q) and the available flow
of cooling water in the electrolyzer heat exchanger (mgy ) along with the actual and
required steam flow from the intercooler and heat exchanger 2 combined (Mg x qct,
MHX req) for an ambient temperature of 15 °© C. The temperature of the mized steam
flow (Tpx ) from the two latter heat exchangers is also included.

mreq mEL THX mHX,req mHX,act

kg/s] [kg/s] [°C]  [kg/s] [kg/s]
Maximum  0.069 . 207 0.066 0.034
Average  0.055 210 0.052 0.034

8.3 Case III: Include a heat exchanger in the com-
pressor line

The new cooling demand in heat exchanger 3 along with the heat removed in heat
exchanger 4 were presented in Figure 7.10. Table 8.4 presents the maximum and
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average cooling demand (Q mx3) and the corresponding required heat input to the
generator (Qg) for when heat exchanger 4 is included at the station. The equivalent
heat removal in the electrolyzer, intercooler and heat exchanger 2 is also included
in the table. Contrary to the two preceding cases, the maximum cooling demand
in heat exchanger 3 occurs at the start of the refueling.

Table 8.4: The maximum and average cooling demand for heat exchanger 3
(QHxs) when heat exchanger 4 is included, the required heat input to the gen-
erator (Qg) and the corresponding heat generation in the electrolyzer (QEL) heat
exchanger 2 (QHXQ) and intercooler (QIC) for an ambient temperature of 15°C.
The numbers in parenthesis correspond to the heat which can be utilized for heating
at the required temperature.

QHXS QG QEL QHXQ QIC

kW] [kW] (kW] (kW] (kW]
Maximum 57 127 2395 (0) 50 (40) 9 (39)
Average 33 T3 48 (38)

Table 8.5: The required temperature of the heat input (Tyeq) along with the temper-
atures of the available heat removed from the electrolyzer (Try ), heat exchanger 2
(Tr x2) and intercooler in compressor 1 (Tic) for an ambient temperature of 15° C

Treq Ter Tax2 Tic
°Cl [°C]  [°C]  [°C]

Maximum 215
150 90 213
Average 206

8.4 Case IV: Combination of Case II and III

The required steam flow to the generator (7,..4), the available flow in the elec-
trolyzer heat exchanger (mpgr) along with the actual and required steam flow
from the intercooler and heat exchanger 2 (Mpx act, MHX, req) are summarized
in Table 8.6. The temperature which the mixed steam flow obtains (Trx) is also
included. The values are given for both maximum and average cooling demand
and for two ambient temperatures (15 and 20°C). For an ambient temperature of
20°C, the required driving temperature is 160°C. This corresponds to a pressure
of 0.62 MPa. The coefficient of performance is then 0.40. More detailed tables are
given in Appendix F.
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Table 8.6: The required steam flow to the generator (Myeq) and the available flow
of cooling water in the electrolyzer heat exchanger (mgy,) along with the actual and
required flow from the intercooler and heat exchanger 2 (Mg x act, TMH X req) for the
ambient temperatures of 15 and 20°C. The temperature of the mized steam flow
(T x ) from the two heat exchangers is also included.

Tamb m'f'eq mEL THX mHX,'r‘eq mHX,uct
C] [kg/s] [kg/s] [°C]  [kg/s] [kg/s]
15 Maximum  0.060 7 63 214 0.057 0.035
Average 0.035 210 0.033 0.034
20 Maximum 0.073 817 223 0.069 0.036
Average 0.042 231 0.041 0.035

8.5 Discussion

8.5.1 Casel and II

For Case I and Case II, the required heat input to the generator is 146 kW at
maximum cooling demand in heat exchanger 3 and 116 kW on average. The re-
quired temperature of this heat is 150°C. As can be seen in Table 8.1 and Table 8.2
the amount of heat generated in the electrolyzer (2395 kW) is sufficient to drive
the cycle, but the temperature of the heat (90°C) is not high enough. Note that
the maximum and average values are identical for the electrolyzer as the hydrogen
production rate is constant. Conversely for heat exchanger 2 and the intercooler,
the temperatures are high enough but the heat amount is not sufficient. The
temperatures at the maximum cooling demand are 201 and 213°C, respectively,
and 206 and 213°C on average. The useful generated waste heats are 37 kW (at
maximum cooling demand) and 38 kW (average) in heat exchanger 2, and 39 kW
for both situations in the intercooler. Thus, an absorption refrigeration process
cannot be utilized by using only one of the waste heat sources when the ambient
temperature is 15°C. Since a higher ambient temperature (i.e. a higher cooling
water temperature) corresponds to a higher required temperature in the generator
as well as a lower coefficient of performance, this approach will not work for higher
ambient temperatures either.

Further, in Case II, it was evaluated whether the high-temperature heat from the
intercooler and heat exchanger 2 can be used to increase the temperature of the
heat generated in the electrolyzer. From Table 8.3 it can be seen that the tem-
perature of the combined flow (207°C at maximum, 210°C on average) from these
heat exchangers is sufficient to do so. Also, the amount of cooling water in the
heat exchanger of the electrolyzer is more than sufficient to provide the required
amount of hot water to be heated and vaporized. However, the actual mass flow
coming from the intercooler and heat exchanger 2 is not sufficient compared to the
required mass flow. The actual flow is 0.034 kg/s at maximum and on average
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cooling demand while the required flow is 0.066 kg/s at maximum and 0.052 kg/s
on average. Hence, in the case of an ambient temperature of 15°C, the combined
mass flow of steam coming from heat exchanger 2 and the intercooler is not suf-
ficient to heat up the water from the electrolyzer heat exchanger to the driving
temperature and vaporize it. The same discussion on higher ambient temperature
given for Case I also applies here.

8.5.2 Case IIT and IV

In Case III, a heat exchanger is included after the compressor in the refueling
section. As can be seen in Table 8.4, the required heat input to the generator
is considerably smaller compared to Case I and Case II. The maximum value is
now 127 kW and the average is 73 kW. Despite the reduced required heat input,
neither of the heat sources are able to drive the absorption refrigeration process
alone. Likewise in Case I and Case II, the amount of heat from the electroyzer is
sufficient, but the temperature of the heat is not high enough. The temperatures
of the heat of the intercooler and heat exchanger 2 are high enough, however, the
amount of heat is not sufficient.

Case IV constitutes a combination of the two preceding cases. From Table 8.6
it can be seen that, for an ambient temperature of 15°C, the average actual mass
flow (0.034 kg/s) from the intercooler and heat exchanger 2 is sufficient to heat up
the hot water flow (0.033 kg/s) from the electrolyzer to the required temperature.
This is not the case at the maximum cooling demand. However, as introduced in
Section 4.1, it is possible to store refrigerant in a reservoir between the condenser
and evaporator. When the cooling demand in heat exchanger 3 is so low that not
all of the generated refrigerant is needed in the cooling process, the excess refriger-
ant can be stored in this reservoir. The stored refrigerant can then be used when
the cooling demand increases to a point where the generated refrigerant rate is
not sufficient to meet the cooling demand. It is therefore acceptable to utilize the
values obtained for the average cooling demand in heat exchanger 3. Thus, for
an ambient temperature of 15°C, it is possible to utilize the combined flow from
the intercooler and heat exchanger 2 to increase the temperature of the hot water
flow coming from the electrolyzer. However, Table 8.6 also contains the results for
when the ambient temperature is 20°C. The actual mass flow from the two heat
exchangers is no longer sufficient. For the average cooling demand, the actual mass
flow is 0.035 kg/s while the required mass flow is 0.041 kg/s. Hence, in this case,
the absorption refrigeration process cannot be utilized for an ambient temperature
higher than 15°C.

8.5.3 Assumptions

Several assumptions have been made in the estimation. First, it is assumed that
the temperature of the cooling water is equal to the ambient temperature. This
assumption will depend on the cooling water system design which is beyond the
scope of this thesis. However, if the cooling water comes from a bigger storage tank
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this is a good assumption. The water has then had time to heat exchange with
the surroundings holding ambient temperature. Otherwise, the water may hold a
slightly higher temperature than that of the surroundings. A higher cooling water
temperature will result in a higher required temperature and also a lower coefficient
of performance. The required heat input to the generator will thus be larger than
found in this estimation. Either way, this assumption has no or very little impact
on the result as the absorption refrigeration process will be unachievable in both
situations.

In addition, it is assumed that the outlet temperature of the flow on the cold
side is equal to the inlet temperature of the flow on the hot side. The assumption
applies for the internal heat exchanger in the elecrolyzer, the intercooler and heat
exchanger 2. Typically, this is the case when a large hot flow is being cooled by
a small cold flow in a large heat exchanger. The flow on the hot side in this case,
which is the mass flow in the production section (0.017 kg/s), is smaller than the
cold flow in all of the considered heat exchangers. Hence, the outlet temperature
of the cold flow will not obtain the same temperature as the inlet hot flow. Often,
a pinch temperature of 5°C is applied. This implies that a larger mass flow on
the cold side is required in order to cool the hydrogen down to the desired outlet
temperature. Thus, the actual mass flow from the intercooler and heat exchanger 2
will be slightly bigger. However, the temperature of this flow will be lower. Addi-
tionally, the temperature of the hot water exiting the electrolyzer heat exchanger
will also be lower. Hence, more heat is required to increase the temperature of this
flow to the required temperature. This again, implies that a larger mass flow of
the steam from the intercooler and heat exchanger 2 is required. The absorption
refrigeration process will still be unattainable.

The additional assumptions made in the estimation (i.e. no heat loss in pipes
and no resistance to heat transfer) both support that the absorption refrigeration
process is not achievable. First, the distances at the station are small, and conse-
quently, the pipes will be short too. Hence, the heat loss from the heated cooling
medium (water/steam) to the pipes and the surroundings will be small. Second,
if the heat loss is noticeable, it will result in a lower temperature of the heated
cooling medium (i.e. hot water or steam). As discussed in the previous paragraph,
this will neither result in the absorption refrigeration process becoming workable.
Second, there will be resistance to heat transfer between the different parts at the
station. This implies that the heat exchange between the different parts will be less
than the heat transfer rate values given above. Since the absorption refrigeration
process is not doable with the overestimated values, neither will it be with the
actual ones.

8.5.4 Other alternatives

In the estimation, only heat generated during the refueling has been considered for
the absorption refrigeration process. However, heat will also be generated during
the refilling of the storage tank. Note that refilling also occurs during the refueling,
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but in this case, a refilling refers to when no vehicle is connected to the station and
when only the production section is operating. As discussed earlier, the refrigerant
can be stored in a reservoir in the absorption refrigeration cycle. Hence, an addi-
tional alternative that may facilitate the absorption refrigeration process is to use
the heat generated during the refilling to generate NH3 that can be stored for use
in the next refueling. The heat produced during the refueling will still generate
NHj, but now the additional amount of refrigerant needed can be supplied by the
stored refrigerant generated by the refilling process. In all except for one of the
cases investigated in Table 7.4, the refilling time is greater than the refueling time.
Additionally, the amount of heat removed in heat exchanger 2 during a refilling
is slightly larger than in a refueling. The other two heat exchangers considered
(the intercooler and the internal electrolyzer heat exchanger) generate the same
amount of heat as in the refueling. A more detailed discussion on this was given
in Section 7.3. The heat generated during a refilling should therefore be sufficient
to produce the additional amount of refrigerant needed, and especially if the heat
exchanger from Case III is included.

There are, however, some factors that must be considered in this approach. The
station does not have the need for recovery time between refueling vehicles. Thus,
several vehicles may refuel in a row. If this is the case, there will be no or very little
refilling between the refuelings. Since the generated heat during a refueling is not
sufficient to drive the absorption refrigeration process alone, the cooling process
will depend on the refrigerant produced during the refilling. It is therefore nec-
essary to estimate the amount of refrigerant generated during a refilling and how
many refuelings this amount can support. The latter is, however, difficult as each
refueling will differ in terms of initial vehicle tank pressure and also vehicle tank
capacity. That is, it will differ in the amount of hydrogen needed in the refueling
in order to reach the target pressure. In addition, it is necessary to be able to
predict how many vehicles will refuel in a day and the time between them in order
to see whether the refillings are able to generate enough refrigerant for providing
sufficient cooling during the refuelings.

8.5.5 Summary

Four different cases have been considered for making the absorption refrigeration
process workable. Only in the last case, Case IV, does the absorption refrigeration
process become so. However, this is only for an ambient temperature of 15°C and,
therefore, from a general point of view, the absorption refrigeration process is not
achievable at a hydrogen refueling station operated at the conditions presented
in this thesis. Further, several of the assumptions made during the estimation
were discussed. These support the conclusion that the absorption refrigeration
process is not workable at this station. Then, an additional alternative for making
the refrigeration cycle feasible was discussed. However, several factors including
prediction of refueling patterns and initial conditions in the vehicle have to be
known in order to do this estimation.
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9 | Conclusion and further
work

A simple dynamic model of a hydrogen refueling station with a direct compression
refueling design has been developed and implemented in MATLAB. An on-site
production section where hydrogen is produced from electrolysis of water has also
been included in the model. Various conditions such as different initial vehicle tank
pressures, ambient temperatures and APRRs have been tested. All the tested con-
ditions are handled well by the model. Additionally, the implemented controllers
are able to track the APRR tightly in different refueling situations.

Further, four cases for making an absorption refrigeration process workable at the
refueling station were investigated. The process is workable when an additional
heat exchanger is included after the compressor in the refueling section and when
waste heat from several of the heat sources is utilized. However, this applies only
for a cooling water temperature of 15°C and presumably below. Based on this and
the assumptions made in the estimation, an absorption refrigeration process is not
achievable at a hydrogen refueling station operated at the conditions given in this
thesis.

9.1 Further work

In order to make the model more realistic, heat transfer in the vehicle tank and
possibly also in the storage tank should be implemented. Additionally, pressure
losses at the station and in the vehicle should also be included in the model.

Further work regarding the absorption refrigeration process may be to investigate
whether the waste heat generated during the refilling of the storage tank can be
utilized in the absorption refrigeration process. The generated heat may be used
to generate the additional refrigerant needed during a refueling in order to make
the absorption refrigeration process feasible.
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A | Derivations

This appendix contains a derivation of the energy balance for an open system with
one species from the first law of thermodynamics along with the derivation of the
total differential of enthalpy expressed in temperature and pressure terms.

A.1 Derivation of energy balance
The first law of thermodynamics for a closed system is
dE =6Q — W (A1)

where dF is the change in total energy of the system, d@ the heat flow to the
system and 0W the work performed by the system on the surroundings. In an
open system, there is some energy exchange caused by the mass flow across the
system boundary. The energy balance for an open system and only one species can
be written as

dE .

Lose — W+ B~ Bous (A.2)

where dF,,,/dt is the rate of accumulation of energy in the system, Q is the rate
of heat flow into the system, W is the rate of work performed by the system and
E;, and E,,; are the rates of energy added to or leaving the system by mass flows
crossing the system boundaries.

The work term can be divided into flow work (pV) and other work (W) usu-
ally denoted shaft work. For one species, the work term can be expressed as

W == 7(pv)1n + (pv)out + Ws (A3)

where p is the pressure and V is the volumetric flow. Substituting this equation
into A.2 and rearranging give:

dEsys
dt




DERIVATIONS

The total energy is the sum of internal energy, U, kinetic energy, E}, potential
energy, B, and other energies (e.g. electric or magnetic energy).

E=U+E,+ E, + other (A.5)

Neglecting the "other" energy term, the energy balance is reduced to:

dE,ys
dt

Enthalpy, H, is defined as

=Q-Wet (U+pV+Er+E))in— U+pV+Er+E)ouws  (A6)

H=U+pV (A7)
and stagnation enthalpy, H?, is defined as
H°= H+ Ey+E, (A.8)

Substituting this into A.6 gives

Bovs _ ¢y _yir, 4 10— 10

dt out (A9)

The kinetic, potential and other energy terms are usually negligible compared to
the enthalpy, work and heat terms. The energy balance is then reduced to

Weys _ &y Vi, 4 1,y — 1,0 (A.10)

dt

and on specific form

% = Q — Wy + (hh)im — (1hh) out (A.11)

where m is the mass flow in or out of the system.
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DERIVATIONS

A.2 Total differential of enthalpy

The total differential of internal energy (U) can be written as
du(S,V), =TdS — pdV (A.12)

where S is entropy, V is volume, T is temperature and p is pressure. From Legen-
dre transformations the relationship between enthalpy (H) and internal energy is
known

H=U+pV (A.13)
dH = dU + d(pV) (A.14)
dH =TdS — pdV + (Vdp + pdV) (A.15)
dH = TdS + Vdp (A.16)

Enthalpy is canonical in entropy (.5) and pressure (p), but by substituting in for the
entropy differential, the enthalpy differential can be converted to be a function of
temperature and pressure. The differential of entropy as a function of temperature
and pressure is as follows:

N oS
dS(T,p) = (ﬁ)pdT+ (%)po (A.17)
The two partial derivative terms can be expressed as
o5y . Gy
((TT)[ = (A.18)
aS ov
(5). = G7), (4.19)

where the former is a definition of the constant pressure capacity and the latter is
a Maxwell relation. The differential of enthalpy as a function of temperature and
pressure is thus:

dH(T,p) =T [%dT - (g—;)pdp} +Vdp
= CpdT + [V - T(Z—;)J dp (A.20)
For an ideal gas, the volume can be expressed as
V= % (A.21)

where n is number of moles and R is the ideal gas constant. The partial derivative
of volume with respect to temperature is:
ov R
(—) - (A.22)
T/ p p
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Inserting these two equations into A.20 yields:
nRT nR

dH (T, p) = C,dT + [T ~T dp

= C,dT (A.23)

The enthalpy of an ideal gas is thus independent of pressure.
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B | Compressor capacity

The cylinder volume (V) for the two compressors are found from

m

Vit = —2—
Y N

(B.1)
where m is the mass flow, p is the inlet density, 1, is the volumetric efficiency and
N is the compressor speed.

The cylinder volume of compressor 1 (Vgy 1) is estimated based on a specified
compressor speed, maximum refilling time (¢,.s:;) of the storage tank and a con-
stant mass flow. It is assumed that each vehicle refuels on average 5 kg (mqug) of
hydrogen in one refueling cycle. The refilling time of the storage tank has been set
to 5 minutes. The required mass flow in compressor 1 is then given by:

1 = avg. (B.2)
trefill

The inlet density is calculated based on the constant inlet conditions (p = 1.2 MPa,
T = 15°C) and the volumetric efficiency is the same as the one used in the simula-
tions. The numerical values along with the estimated cylinder volume are presented
in Table B.1.

The cylinder volume of compressor 2 (chl,g) is estimated based on a maximum
mass flow (0.06 kg/s) set by the SAE TIR J2601 and a fixed compressor speed (Ns)
for this mass flow. The volumetric efficiency are calculated for the largest compres-
sion ratio as this will give the lowest volumetric efficiency, thus yielding the largest
cylinder volume. The numeric values along with the estimated cylinder volume are
presented in Table B.1.



COMPRESSOR CAPACITY

Table B.1: The calculated compressor cylinder volumes along with the numerical
values applied in the calculations.

Parameter Unit Compressor 1 Compressor 2
Mavg [ke] 5 -
Lrefill [s] 300 -

m [kg/s] 0.017 0.06
Din [MPa] 1.2 30
Dout [MPa] 6 70

T; [°C] 15 15

p kg/m?  0.99 20.85
i - 0.75 0.93
N [1/s] 10 10
Veyt [m?] 2.3e-3 3.1e-4
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C | Saturated steam
properties

Table C.1 presents specific enthalpies for water and steam at saturated conditions.
The data is found from [29].

Table C.1: Specific enthalpies for water and steam at different temperatures and
the corresponding saturating pressures.

Pressure Temperature Specific enthalpy water Specific enthalpy steam

[MPa] Ry [kJ /ke] [kJ/ke]
0.48 150 633.5 2746
0.62 160 670.4 2756
0.90 175 742.6 2772
1.19 186 790 2781
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D | Controller tuning

The process models for the two different refueling cases (reduction valve and com-
pressor) are found graphically. The controllers are then tuned using the Simple
(or Skogestad) Internal Model Control (SIMC) tuning rules [25]. For the reduction
valve controller, it is the valve coefficient (C,) that is the manipulated variable.
The compressor controller uses the compressor speed (N2) as the manipulated vari-
able. Note that, in this appendix, the notation compressor refers to compressor 2.

The SIMC tuning rules for an integrating process are given as:

11
K.=—— D.1
¢ K 1. ( )
77 =4(1. + 0) (D.2)

The process model and tuning parameters are summarized in Table D.1.

Table D.1: Description of process model and tuning parameters.

Symbol  Description

k' Slope of integrating response

K. Controller gain

TI Integral time constant

Te Desired closed-loop time constant
0 Time delay

The pressure rise in the vehicle tank when the reduction valve is applied for refueling
is shown in Figure D.la. The figure is obtained from a refueling with a fixed valve
coefficient (C,) (i.e. open-loop). The pressure rise in the vehicle tank when the
compressor is utilized with fixed speed (N3) can be seen in Figure D.1b. The
pressure rise in the vehicle tank is approximated as integrating processes in both
cases. An integrating model can be expressed as:

k/e—es

S

G(s) (D.3)
Figure D.2 illustrates how to find a process model for an integrating process.
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(a) Reduction valve. (b) Compressor.

Figure D.1: The open-loop response for when the reduction valve (a) and the
compressor (b) are utilized for refueling.
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Figure D.2: Illustration on how to obtain a process model for an integrating

process. y(t) is process output, u(t) is process input, 0 is process time delay and k’
is the slope of the integrating response (i.e. process gain).

=Y

The process model gain (k') can then be obtained from the following equation

Ay
I _
k' = Auli (D4)

where Ay is the change in the output variable (pressure), Au the magnitude of the
step (Cy,/N2) and At the time period. The obtained process models for the two

cases are presented in Table D.2.



CONTROLLER TUNING

Table D.2: Process model parameters for the pressure rise when utilizing the
reduction valve and when utilizing the compressor for refueling.

Parameter Reduction valve Compressor

Au 2.00x1076 5.00

Ay 10.88 11.55

At 30.00 30.00

K 1.81x10° 7.70x1072
9 0.00 0.00

Obtained tuning settings for the two controllers with different 7.s are presented in
Table D.3a and Table D.3b. The controller bias is set to zero during the tuning.

Table D.3: Process model and tuning settings for the reduction valve and com-
pressor controllers.

(a) Reduction valve controller. (b) Compressor controller.
7. K.,x107° 77 Te K. TI
0.5 1.10 2 0.5 2598 2
1 0.55 4 1 1299 4
2 0.28 20 2 6.50 20
4 0.14 40 4 3.25 40

D.1 Controller performance

Figures D.3 and D.4 show the performance of the different controller settings for
the reduction valve and compressor controllers, respectively. The different cases are
simulated at the operating conditions of the two units. That is, in the corresponding
pressure range at which the unit is used during a refueling. The highest value of
T. having an acceptable tracking of the APRR has been chosen for tuning settings.
Therefore, 7. = 0.5 and 7. = 2 are chosen for the reduction valve and the compressor
controllers, respectively.
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Figure D.3: The performance of the reduction valve
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Figure D.4: The performance of the compressor
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E | Pressure loss calculations

This appendix presents pressure loss calculations performed in order to see whether
the assumption saying that the pressure losses at the station are negligible is rea-
sonable.

E.1 Pressure losses in pipes

The pressure drop in a pipe (Ap) is calculated from the Darcy-Weisbach equation

AL v?
Ap = fp—— E.1
p=Ir75 3 (E.1)
where f is the Darcy friction factor, p the density of the flow, AL the length of the
pipe, D the inner diameter of the pipe and v the average velocity in the pipe [30].
The velocity can be found from

m

T A

v

(E.2)
where A is the cross-sectional area of the pipe. The friction factor, f, depends on
whether the flow is laminar or turbulent. The Reynolds number, Ng., is used to
describe the flow type. For a straight, circular pipe, the flow is always laminar
when the value of the Reynolds number is less than 2100. When the Reynolds

number is over 4000, the flow will be turbulent. In between these numbers, the
flow can be viscous or turbulent. The Reynolds number is as follows

_ Dvp
I

NRe

(E.3)

where p is the dynamic viscosity. The friction factor for a laminar flow depends
only on the Reynolds number:

16

f: NRe

(E.4)

For a turbulent flow, the friction factor does not only depend on the Reynolds
number, but also on the pipe roughness (e). The friction factor for a turbulent
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PRESSURE DROP CALCULATIONS

flow must therefore be determined empirically. However, several equations have
been developed for estimating this friction factor. One of these is the Swamee-Jain
equation where the friction factor is found explicitly [31].

f=025 {bg(ﬂ N 5.74)}72

E.5
37 T ND9 (E5)

E.2 Pressure loss: Refueling section

The pressure loss in the pipe between the storage tank and the reduction valve/-
compressor along with the pressure loss in the pipe between reduction valve/heat
exchanger and heat exchanger 3 have been calculated during a refueling. The re-
fueling occurs with an ambient temperature of 15°C and an initial vehicle tank
pressure of 2 MPa. First, the Reynolds number was calculated in order to de-
termine whether the flow is laminar or turbulent. It was found that the flow is
turbulent during the whole refueling. The pressure losses per pipe length for both
cases are presented in Figure E.1. Two different inner diameters have been applied
in the calculations: 0.01 and 0.008 m. The roughness of the pipe is set to 4.6x 107>
(commercial steel) [30].

2 —
—— Storage tank - valve/compressor. D=0.01 m
\ —— Valve/compressor - heat exchanger 3. D=0.01 m

=15 . --- Storage tank - valve/compressor. D=0.008 m
E lnl - -- Valve/compressor - heat exchanger 3. D=0.008 m
= |
s 1h
o) \
e .
= 1
& 05]

0 20 40 60 8 100 120 140

Time [s]

Figure E.1: Pressure losses in the pipes between the storage tank and the re-
duction valve/compressor and between the reduction valve/compressor and heat ex-
changer 8. The pressure losses are given per pipe length and for a whole refueling.
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F | Absorption refrigeration

This appendix presents similar calculations and results as those presented in Chap-
ter 8 for additional ambient temperatures (20, 25 and 30°C). The results for 15°C
is also included. Note that the values presented are from a refueling only. That is,
the heat generated during the corresponding refilling is not considered.

F.1 Case I: Use heat from only one heat source

In the following calculations, the maximum and average cooling demand of heat
exchanger 3 (Q 1 x3) have been applied. Table F.1 shows the cooling demand in heat
exchanger 3, the required heat input to the generator (Q¢) and the heat removal in
the heat exchangers for different ambient temperatures during a refueling. The heat
exchangers included are the internal heat exchanger in the electrolyzer, the heat
exchanger following the first compressor (i.e. heat exchanger 2) and the intercooler
between the two compression stages in compressor 1. Note that the numbers in
parenthesis correspond to the useful heat which can be utilized for heating at the
required driving temperature and above. The temperatures at which the heat is
removed in the heat exchangers along with the required temperature (T,.q) are
presented in Table F.2.

F.2 Case II: Increase temperature of waste heat
from electrolyzer with waste heat from heat
exchanger 2 and intercooler

This section presents more detailed tables for the Case II results.

F.2.1 Generator

Table F.3 presents the necessary mass flow of saturated steam (1,¢q) to transfer
the required heat input to the generator (Qg) for different ambient temperatures.
The conditions of the steam (temperature, pressure) are also included. Note that
the given pressure is the pressure of the rest of the cooling system as well.
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ABSORPTION REFRIGERATION

Table F.1: Case I: The cooling demand in heat exchanger 3 (Qng), the required
generator heat input (Qg) and available heat from the electrolyzer (Qpr), heat
exchanger 2 (Qmux2) and the intercooler (Qrc ) for different ambient temperatures.
The coefficients of performance for the different ambient temperatures are also
included. The numbers in parenthesis correspond to the heat which can be utilized
for heating at the required temperature.

Tamb Quxs Qo QL Qux2 Qrc

°C] (kW] [kW]  [kW] (kW] [kJ/kg]
Maxi 66 146 47 (37

15 R s 2305 0) 7 B0 49 (30)
Average 52 116 48 (38)
Maximum 69 171 48 (37)

20 0.40 2395 (0) 50 (40)
Average 56 139 49 (39)
Maximum 71 178 48 (38)

25 0.40 2395 (0) 51 (41)
Average 59 147 50 (41)
Maxi 72 240 49 (39

30 g 50 2395 (0) 209 5o (4o
Average 60 202 50 (41)

Table F.2: Case I: The required temperature of the heat input (Tyeq) along with
the temperatures of the available heat removed from the electrolyzer (Tgyr), heat

exchanger 2 (Trx2) and intercooler in compressor 1 (T1c).

Tomb Treqg Ter Tax2 Tic
[°C] [°C]  [°C]  [°C]  [°C]
Maximum 201
15 150 90 213
Average 207
Maximum 209
20 160 90 222
Average 214
Maximum 217
25 175 90 230
Average 222
Maximum 225
30 186 90 238
Average 231
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ABSORPTION REFRIGERATION

Table F.3: Case II: The mass flow of steam required (myeq) to transfer the heat
amount that is necessary to drive the cycle (Qg) and meet the cooling demand.
The desired temperature (Tyeq) and pressure (p) of the saturated steam are also
included. Values for both maximum and average cooling demand are presented.

Tamb Treq p QG mreq
°C] [°C]  [bar] [kW] [kg/s]
Maximum 146  0.069
15 150 4.8
Average 116 0.055
Maximum 171 0.082
20 160 6.2
Average 139  0.067
Maximum 178  0.085
25 175 9
Average 147 0.071
Maximum 240 0.11
30 186  11.9
Average 202 0.097

F.2.2 Electrolyzer

The temperature of the hot water leaving the electrolyzer heat exchanger (Tgr,),
the outlet temperature after heating which corresponds to the required driving
temperature (T,.q) and the required steam flow (7,¢,) are shown in Table F.4.
Additionally, the available mass flow of the water coming from the electrolyzer
(mgr) and the heat amount necessary to heat up and vaporize the hot water at
the required temperature (Q mx2|pr ) are given. Values for both maximum and
average cooling demand in heat exchanger 3 are included.

F.2.3 Heat exchanger 2 and intercooler

Table F.5 presents the temperature of the combined steam flow from heat ex-
changer 2 and the intercooler (Tyyx), the temperature after the heat exchange
(Tx out ), the required mass flow in order to vaporize the electrolyzer cooling
water (Muyx req ) and the actual mass flow available (Mpx act)-

F.3 Case III: Include an heat exchanger in the
compressor line

By including a heat exchanger after compressor 2, the cooling demand in heat
exchanger 3, and accordingly the required heat input to the generator, will be
reduced. The new cooling demand in heat exchanger 3 and required heat input to
the generator are presented along with the available waste heats in Table F.6. The
temperatures at which the waste heat are generated are presented in Table F.7
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ABSORPTION REFRIGERATION

Table F.4: Case II: The heat required to heat up and vaporize the hot cooling
water leaving the electrolyzer to and at the driving temperature (QHXQ‘EL). The
available cooling water mass flow in the electrolyzer (mgr) and its corresponding
temperature (IT'gr,) along with the required steam flow (Myeq) and its corresponding
temperature (Teq) are also included.

Tamb TEL Treq mreq meL QHXZ\EL
[°C] [°C] [°C] [kg/s] [kg/s] (kW]
Maximum 0.069 164
15 90 150 7.63
Average 0.055 130
Maximum 0.082 195
20 90 160 8.17
Average 0.067 159
Maxi .0 2
o5 aximum 90 175 0.085 8.80 03
Average 0.071 168
Maxi 0.11 273
30 g0 186 9.53
Average 0.097 230

Table F.5: Case II: The required (Mpx req) and actual (mpgx qct) mass flow
from the heat exchanger and intercooler along with the conditions at which the heat
exchange to the hot water leaving the electrolyzer occurs.

Tamb THX THX,out mHXweq mHX,act

[°C] [°C] [°C] [kg/s] [kg/s]
Maximum 207 0.066 0.034

15 150
Average 210 0.052 0.034
Maximum 216 0.078 0.035

20 160
Average 218 0.063 0.035
Maximum 224 0.081 0.035

25 175
Average 226 0.066 0.036
Maximum 232 0.11 0.036

30 186
Average 234 0.090 0.036
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ABSORPTION REFRIGERATION

Table F.6: Case III: The cooling demand in heat exchanger 3 (Qng), the re-
quired generator heat input (Qg) and available heat from the electrolyzer (Qpr ),
heat exchanger 2 (QHXQ) and the intercooler in compressor 1 (QIC ) for different
ambient temperatures.
temperatures are also included. The numbers in parenthesis correspond to the heat
which can be utilized for heating at the required temperature and above.

The coefficients of performance for the different ambient

Tamb COP Quxs Qo QL Qux2 Qrc

°C] (kW] [kW]  [kW] (kW] [kJ/kg]
Maximum 57 127 50 (40)

15 0.45 2395 (0) 49 (39)
Average 33 73 (38)
Maxi 61 153 51 (40

20 ) 40 2305 (0) L 40 50 (a0)
Average 36 89 49 (39)
Maxi 1 2 (41

gy Maximumo 0 65 63 505 0) 24 51 )
Average 39 96 50 (40)
Maxi 69 229 53 (40

30 30 2305 0) 00 U0 55 (a9)
Average 40 202 50 (41)

Table F.7: Case III: The required temperature of the heat input (Tyeq) along with
the temperatures of the available heat removed from the electrolyzer (Tgrr), heat

exchanger 2 (Trx2) and intercooler in compressor 1 (Trc).

Tomb Treqg Ter Tax2 Tic
[°C] [°C] [°C]  [°C]  [°C]
Maximum 215
15 150 90 213
Average 207
Maximum 223
20 160 90 222
Average 214
Maximum 231
25 175 90 230
Average 222
Maximum 240
30 186 90 238
Average 231
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ABSORPTION REFRIGERATION

F.4 Case IV: Combination of Case II and III

This section presents more detailed tables for the Case IV results.

F.4.1 Generator

Table F.8 presents the necessary mass flow of steam (1my¢q) to transfer the required
heat input to the generator (Qg) for different ambient temperatures. The condi-
tions of the steam (temperature, pressure) are also included. Note that the given
pressure is the pressure of the rest of the cooling system as well.

Table F.8: Case IV: The mass flow of steam required (myeq) to transfer the heat
amount that is necessary to drive the cycle (Qg) and meet the cooling demand.
The desired temperature (Tyeq) and pressure (p) of the saturated steam are also
included. Values for both maximum and average cooling demand are presented..

Tamb Treq p QG mreq
°C] [°C]  [bar] [kW] [kg/s]
Maximum 127 0.060

15 150 4.8
Average 73 0.035
Maximum 153  0.073

20 160 6.2
Average 89  0.043
o5 Maximum 175 9 163  0.078
Average 96 0.046
Maximum 229 0.11

30 186 11.9
Average 134 0.064

F.4.2 Electrolyzer

The temperature of the hot water coming from the electrolyzer heat exchanger
(TgL), the outlet temperature after heating which corresponds to the required
driving temperature (7}..q) and the required saturated steam flow (1m,.4) are shown
in Table F.4. Additionally, the available mass flow of the water coming from the
electrolyzer (mpgr) and the heat amount necessary to heat up and vaporize the
water at the required temperature (Q HX2|EL ) are given. Values for both maximum
and average cooling demand in heat exchanger 3 are presented.

F.4.3 Heat exchanger 2 and intercooler

Table F.5 presents the temperature of the combined steam flow from heat ex-
changer 2 and the intercooler (Tyx), the temperature after the heat exchange
(Tx,out ), the required mass flow in order to vaporize the electrolyzer cooling
water (Mmpx req ) and the actual mass flow available (Mpx act )
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ABSORPTION REFRIGERATION

Table F.9: Case IV: The heat required to heat up and vaporize the hot cooling
water leaving the electrolyzer to and at the driving temperature (QHXQ‘EL). The
available cooling water mass flow in the electrolyzer (mpr) and its corresponding
temperature (T, ) along with the required steam flow (Myeq) and its corresponding
temperature (Iyeq) are also included.

Tamb TEL Treq mreq mEL QHXZ\EL
[°C] [°C] [°C] [kg/s|] [kg/s] (kW]
Maximum 0.060 142
15 90 150 7.63
Average 0.035 82
Maximum 0.073 175
20 90 160 8.17
Average 0.043 102
Maximum 0.078 186
25 90 175 8.80
Average 0.046 110
Maximum 0.11 262
30 90 186 9.53
Average 0.064 153

Table F.10: Case IV: The required (Mpx req) and actual (Myx qet) mass flow
from the heat exchanger and intercooler along with the conditions at which the heat
exchange to the electrolyzer cooling water occurs.

Tamb THX THX,out mHX,req mHX,act

°C] [Cl €] kg /s] kg /s]
Maximum 214 0.057 0.035

15 150
Average 210 0.033 0.034
20 Maximum 223 160 0.069 0.036
Average 218 0.041 0.035
Maximum 231 0.073 0.036

25 175
Average 226 0.043 0.036
Maximum 239 0.10 0.037

30 186
Average 234 0.060 0.036
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G MATLAB script

This appendix contains the MATLAB script of the model along with its sub func-
tions. Only the script for the case without heat exchanger 4 is included. The script
used for the absorption refrigeration process is also presented in this appendix.
Documentation is provided in the scripts.

G.1 Main script: refueling station.m

DESCRIPTION
Dynamic model of a hydrogen refueling station with direct compression of
hydrogen gas into the vehicle tank.
The station consists of an electrolyzer that produces hydrogen from
water, three heat exchangers whose job is to remove heat that is added in
compression and expansion processes, two compressors, a storage tank and
a reduction valve.
The vehicle that connects to the station consists of one hydrogen storage
tank.
The mass flows in the station are induced by compressor 1 (mflow2) and
the reduction valve/compressor 2 (mflow5A/B).
The rest of the mass flows are given by steady state mass balances:
mflowl = mflow2 and mflow4d = mflow3 = mflow2
mflow7 = mflow6A/B = mfow5A/B

COMPONENTS in station

Bl h Tl ol lo el totololo st toloTohtotoloTo s tototolo oo tetotololo et o toTo %o totoTo o %o toToTo oo %o to To To oo %o to To

Flows: 1 2 3 4 5A/B 6A/B 7 %
EL ---> HX1 ---> C1 ---> HX2 ---> ST ---> RV/C2 ---> HX3 ---> VT %

)

Dbl hhte Tl toloTo el totoloTo et toloTo s totoloTo st totoloTo oot totoToTo oo totoTo To oo %o to To To oo %o to To To o o %o To To To T o 0o o T

EL: Electrolyzer

HX: Heat exchanger

C: Compressor

ST: Storage tamnk

RV: Reduction valve

VT: Vehicle tank

ASSUMPTIONS

No pressure drop in pipelines or in heat exchangers.

Steady-state operation of heat exchangers.

Adiabatic compression and expansion in compressors and reduction valve.
Adiabatic filling of vehicle tank. No heat exchange with environment from
storage tank.

INTEGRATOR
Explicit Euler method.

PARAMETERS/VARIABLES
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76
77
78

80
81
82
83
84
85

87
88
89
90
91
92
93
94
95
96
97
98
99
100
101
102
103
104
105
106
107

MATLAB SCRIPT

% aprr
% Cv

% Kc

% mflow
% rho

% tau_C

% tau_D
% tau_I

=
-

=
o==<ace

clear all
close all

global T_amb

refill

Average pressure ramp rate, [MPa/s]
Valve coefficient
Specific enthalpy,
Loop counter
Controller gain
Mass in tank, [kgl
Mass flow, [kg/s]
Compressor speed,
Density, [kg/m3]
Time, [s]

Desired closed-loop time constant,

[kJ/kg]

[1/s]

Derivative time constant, [s]
Integral time constant, [s]
Temperature, [K]

Specific internal energy, [kJ/kgl

Internal energy, [kJ]

Tank volume, [m3]
Work flow, [kW]
Heat flow, [kW]

V_vt del_t aprr

= true;

[s]

hRhhR DD D% h %% hhhh%h% INPUT VARIABLES %Ah%UAh%A %A %R %R h%R %% N%N%%%NDN %% N %

% The ambient temperature, vehicle tank pressure and volume will be

% different for different vehicles. APRR is decided based on these

% variables. The pressure in storage tank can be optimized to save

% compressor work.

T_amb = 273 + 15; %Ambient temperature, [K]

p_vehicle_tank = 2; %Initial pressure in vehicle tank, [MPal
V_vehicle_tank = 0.172; %Volume of vehicle tank, [m3]
p_storage_tank = 30; %Initial pressure in storage tank, [MPa]

Dbttt Tttt

HYDROGEN VEHICLE

% tank before refueling.

p_vt
T_vt
V_vt
rho_vt
m_vt
u_vt

BBl Tl Tt Dt Dottt toth st st e

% The primary (u and m) and secondary (p, T, rho, h) states of the vehicle
= p_vehicle_tank;
T_amb;

= V_vehicle_tank;

= Props(’D’, ’P’, p_vt*le3, ’T’, T_amb, ’H2’);

= rho_vt*V_vt;

= Props(’U’, ’P’, p_vt*1e3, ’'T’, T_amb, ’'H2’);

= Props(’H’, ’P’, p_vt*1e3, ’'T’, T_amb, ’'H2’);

h_vt

% Filling targets:

% target density and ambient temperature.

% Switching limit

rho_target
dp_switch
if T_amb ==
p_target
aprr
elseif T_amb
p_target
aprr
elseif T_amb
p_target
aprr
elseif T_amb
p_target
aprr

273 +

[MPa] between the red.
= 40.2;
= 0.5;

10

= 72;

= 28.2/60;
273 + 15

= 72.6;

= 28.2/60;
273 + 20
= 73.2;

= 28.2/60;
273 + 25

= 73.6;

= 28.2/60;

%REF: SAE TIR J2601

XXVvi
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%Tabulated average pressure ramp rate,

[MPa] based on
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108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142

144
145
146
147
148
149
150
151

152
153
154
155
156
157
158
159
160
161

162
163
164
165
166
167
168
169
170
171

172
173
174
175

MATLAB SCRIPT

elseif T_amb == 273 + 30
p_target = 74.1;
aprr = 27.4/60;
else
disp(’Not valid ambient temperature input.The valid options are 10,
return
end
if p_vt > p_storage_tank - dp_switch
p_target = 69.1; % When initial pressure is 30 MPa

end

disp([’Target pressure in vehicle tank is ’, num2str(p_target), ’ MPa’])

Dhh DDl R LT hD "D h% %%, REFUELING STATION LAUARLLAIRR LD T DD b DD DD %% %N %%

%Electrolyzer

p_electrolyzer = 1.2; %0perating pressure, [MPal]
T_electrolyzer = 273 + 90; %0perating temperature, [K]
%Heat exchangers. Outlet temperatures are specified.

Thx1l_out = T_amb;

Thx2_out = T_amb;

Thx3_out = 273 - 40;

%Storage tank: Primary (u and m) and secondary states (p, T, rho, h).
p_st = p_storage_tank;

T_st = T_amb;

V_st = 3;

rho_st = Props(’D’, ’P’, p_st*1e3, 'T’, T_st, ’'H2’);

m_st = rho_st*V_st;

u_st = Props(’U’, ’P’, p_st*led, 'T’, T_st, ’'H2’);

h_st = Props(’H’, ’P’, p_stx*x1e3, 'T’, T_st, ’'H2’);
%Initiation of flows: Secondary states.

T_1 = T_electrolyzer;
p_1 = p_electrolyzer;
T_2 = Thx1_out;

p_2 = p_1;

T_3 = T_amb;

p_3 = p_st;

T_4 = Thx2_out;

p_4 = p_st;

T_5 = T_st;

p_5 = p_st;

T_6 = T_amb;

p_6 = p_vt;

T_7 = Thx3_out;

p_7 = p_vt;

mflow6 = 0; %For when compressor 2 starts directly

%Initial conditions for integrator

x0 = [ m_st , m_st*u_st , .
m_vt , m_vt*u_vt ]7;

Tl tohohelohohohoththhh s

TIME DEFINITIONS %%%%%%%%%hthtettethlethhthhthhhhhhhhh %%

t = 0; %Start at t = 0, [s]
del_t = 0.1; %Time steps, [s]
i 1; %Counter

Thhththtettelohlohhhhhhhhhh CONTROLLERS LA RLRL AR hhhhhthtthtethtehlhhhhhhhhhhhsh

%Reduction valve controller settings

tauC_rv = 0.5;

%Integrating

k_rv = 1.81e5;

Kc_rv = 1/(k_rv*tauC_rv);
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MATLAB SCRIPT

taul_rv = 4xtauC_rv;

%PID-controller for reduction valve.
controlleri = @(cv, error, int_error) Ce

cv + Kc_rvx(error + 1/taul_rv*int_errorx*del_t);

%Compressor controller settings

tauC_c2 = 2;
k_c2 = 0.077;
Kc_c2 = 1/(k_c2*tauC_c2);

taul_c2 4xtauC_c2;

%PID-controller for compressor 2.
controller2 = @(N, error, int_error) .

N + Kc_c2*(error + 1/taul_c2*int_errorxdel_t);

%Initiation of controllers

p_SP = p_vt + aprr*del_t; %Set point for pressure in vehicle tank
error = p_SP - p_vt; %Error between set point and msrd variable
int_error = 0; %Integrator error

flag = 0; %Decides initiation of N2

CvO0 = 2e-6; %Bias value for valve coefficient

N2 = 0; %Compressor 2 is off

Dottt %h%h ALLOCATION OF PROFILES %hhhhhhhhhhhhhhhthththththhhhhh

t_aprr round (p_target/aprr)-70; %Approximate filling time
len t_aprr/del_t;
zeros (len, 1);

tspan =

aprr_prof zeros (len, 1);

pst_prof zeros (len, 1);
mst_prof = zeros(len, 1);
ust_prof = zeros(len, 1);
hst_prof = zeros(len, 1);
Tst_prof = zeros(len, 1);
pvt_prof zeros (len, 1);
mvt_prof zeros (len, 1);
uvt_prof zeros (len, 1);
hvt_prof zeros (len, 1);
Tvt_prof zeros (len, 1);
mf_2_prof zeros (len, 1);
mf_5_prof zeros (len, 1);
Pel_prof zeros (len, 1);
Qel_prof = zeros(len, 1);
T3_prof = zeros(len, 1);
Tcl_int_prof = zeros(len, 1);
Qcl_prof = zeros(len, 1);
Wcl_prof = zeros(len, 1);
T6_prof zeros (len, 1);
Wc2_prof = zeros(len, 1);
Qhx1_prof = zeros(len, 1);
Qhx2_prof = zeros(len, 1);
Qhx3_prof = zeros(len, 1);
Cv_prof zeros (len, 1);
N2_prof zeros (len, 1);
Re_prof zeros (len, 1);
dp_prof zeros (len, 1);

%Initial profiles at t = O (NOTE: Must have i = 1)
tspan (1) = t;

aprr_prof (1) = p_vt;

xxviii




245

MATLAB SCRIPT

pst_prof (1) = p_st;
mst_prof (1) = m_st;
ust_prof (1) = u_st;
hst_prof (1) = h_st;
Tst_prof (1) = T_st;
pvt_prof (1) = p_vt;
mvt_prof (1) = m_vt;
uvt_prof (1) = u_vt;
hvt_prof (1) = h_vt;
Tvt_prof (1) = T_vt;
T3_prof (1) = T_3;
Tcl_int_prof (1) = T_2;
T6_prof (1) = T_6;

while p_vt < p_target

%Mass flow and work in compressor 1. Sets mass flow in production line.

[ W_compressorl, mflow2, T_3, Tcl_int, Qcil_int ]

= compressori( p_2, p_3, T_2, T_3
mflow3 = mflow2;
%Electrolyzer
mflowl = mflow2;

[ P_electrolyzer, Q_electrolyzer ]

)

= electrolysis( mflowl, T_electrolyzer );

%Heat exchanger 1
[ Q_hx1, h_2 1] .
= heatexchanger ( mflowl, T_1, p_1,
%Heat exchanger 2

[ Q_hx2, h_4 1] .
= heatexchanger ( mflow3, T_3, p_3,
mflowéd = mflow3;

%Switching between reduction valve and compressor
if p_st - p_vt >= dp_switch

Thx1_out );

Thx2_out );

%Calculating new valve coefficient from controller
Cv = controller1( Cv0O, error, int_error );

%Mass flow in reduction valve
[ mflows5, T_6 ]

= red_valve( p_5, T_5, rho_st, p_6, Cv );
mflow6 = mflow5;
W_compressor2 = 0;
elseif p_st - p_vt < O
%Controller
N2 = controller2( N20, error, int_error );

%Work , mass flow and outlet temp. in compressor 2

[ W_compressor2, mflowbs, T_compressor2 ]

= compressor2( p_5, p_6, T_5, T_6,
T_6 = T_compressor2;
mflow6 = mflowb;

else

N2 );

%At the switch, the pressure in the vehicle tank is lower than the
%pressure in the storage tank. Therefore, the outlet pressure of the

%compressor is set equal to the inlet pressure
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312 if flag == 0
313 %Initiation of N2 the first time the compressor runs. N2 is
314 %initiated based on the mass flow in the reduction valve when
315 %the switch occurs.
316
317 Cv = 0; %Closing valve
318 N2 = init_n2(mflow6, p_st, T_st, rho_st);
319 N20 = N2;
320 flag = 1; %Turns off N2 initiation
321
322 time = tspan(i);
323 disp([’Change from reduction valve to compressor at ’, ..
324 num2str (time), ’ s’])
325 disp([’Initial N2 is ’, num2str(N2), ’ strokes per second’])
326

else

%Controller calculating compressor speed
N2 = controller2( N20, error, int_error );

end

%Work, mass flow and outlet temp. in compressor 2
%Assume outlet pressure is equal to inlet pressure
[ W_compressor2, mflow5, T_compressor2 ] .

= compressor2( p_5, p_5, T_5, T_6, N2 );
T_6 = T_compressor2;
mflow6 = mflowb;

end
%Heat exchanger 3

[ Q_hx3, h_7 1]
mflow7

heatexchanger ( mflow6, T_6, p_6, Thx3_out );
mflow6;

%Integration - Explicit Euler
[ x, x0 1] = euler_integrator ( mflow4, h_4, ...
h_st, mflow7, h_7, x0 );

%Calculating new primary and secondary states in tanks

m_st = x(1);

u_st = x(2)/m_st;

rho_st = m_st/V_st;

T_st = T_solver(u_st, rho_st, T_st);

p_st = Props(’P’, ’D’, rho_st, ’T’, T_st, ’H2’)/(1e3);
h_st = Props(’H’, ’P’, p_st*le3, ’T’, T_st, ’H2’);
m_vt = x(3);

u_vt = x(4)/m_vt;

rho_vt = m_vt/V_vt;

T_vt = T_solver(u_vt, rho_vt, T_vt);

p_vt = Props(’P’, ’D’, rho_vt, ’T’, T_vt, ’H2’)/(1e3);
h_vt = Props(’H’, ’P’, p_vt*le3, ’'T’, T_vt, ’H2’);

%Updating flows

p_4 = p_st;
368 p_3 = p_st;
369 T_5 = T_st;
370 p_5 = p_st;
371 p_6 = p_vt;
372 p_7 = p_vt;
373
374
375 %Updating profiles
376 tspan(i + 1) = tspan(i) + del_t;
377 aprr_prof (i + 1)= p_SP;
378
379 pst_prof(i + 1) = p_st;
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mst_prof(i + 1) = m_st;
ust_prof (i + 1) = u_st;
hst_prof(i + 1) = h_st;
Tst_prof (i + 1) = T_st;
pvt_prof (i + 1) = p_vt;
mvt_prof (i + 1) = m_vt;
uvt_prof(i + 1) = u_vt;
hvt_prof(i + 1) = h_vt;
Tvt_prof (i + 1) T_vt;
mf_2_prof(i + 1) = mflow2;

mf_5_prof(i + 1) = mflow7;

Pel_prof(i + 1) = P_electrolyzer;
Qel_prof(i + 1) = Q_electrolyzer;

T3_prof(i + 1) = T_3;
Tcl_int_prof(i + 1) = Tcl_int;
T6_prof(i + 1) = T_6;

Qhx1_prof (i + 1)= Q_hx1;
Qcl_prof (i + 1) = Qcl_int;
Qhx2_prof (i + 1)= Q_hx2;
Qhx3_prof (i + 1)= Q_hx3;

Wcl_prof(i + 1) = W_compressori;
Wc2_prof (i + 1) = W_compressor2;
Cv_prof(i + 1) = Cv;

N2_prof (i + 1) = N2;

Re_prof (i + 1) = Re;

dp_prof (i + 1) = dp;

%Updating error for controller action
p_SP = p_SP + aprr*del_t;
error = p_SP - p_vt;

int_error int_error + error;
i =i + 1;

end

Dl hhhhhhhhhhhhhhhh STATE OF CHARGE LUhhhhhhhhhhhhhhhhhhhhhhh

soc = rho_vt/rho_target*100;
disp([’Final pressure in vehicle tank ’, num2str(p_vt), ’ MPa’l)
disp([’Final mass in vehicle tank ’, num2str(m_vt), ’ kg’])

disp([’The state of charge is ’, num2str(soc), ’%’])
disp([’The refueling lasts ’, num2str (tspan(end)), ’ s’])

Thhhhbhhttthtelslhlhhhhhhhh% REFILLING STORAGE TANK LALLLLLAAAADDDT NN TNl

%New system matrix for Euler integration. Only charging of tank.

F =[1, h4];

yo = [ m_st, m_st*u_st]’;
%Time

t = 0;

h) =1

%Allocation of profiles

t_refill_guess = 2%70;

len_refill = t_refill_guess/del_t;
t_refill = zeros(len, 1);
pst_refill = zeros(len, 1);
mst_refill = zeros(len, 1);
Tst_refill = zeros(len, 1);
mf_2_refill = zeros(len, 1);
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T3_refill = zeros(len, 1);
Tcl_refill = zeros(len, 1);
Wecl_refill = zeros(len, 1);
Pel_refill = zeros(len, 1);
Qel_refill = zeros(len, 1);
Qhx1_refill = zeros(len, 1);
Qhx2_refill = zeros(len, 1);
Qcl_refill = zeros(len, 1);
%Refill profiles (NOTE: Must have j=1)
%t_refill (j) = t_start_refill;
t_refill(j) = 0;

pst_refill(j) = p_st;
mst_refill(j) = m_st;
Tst_refill(j) = T_st;
mf_2_refill(j) = mflow2;
T3_refill(j) = T_.3;
Tcl_refill(j) = Tcl_int;

Wecl_refill(j) =
Pel_refill(j) =
Qel_refill(j) =

W_compressorl;
P_electrolyzer;
Q_electrolyzer;

Qhx1_refill(j) = Q_hx1;
Qhx2_refill (j) = Q_hx2;
Qcl_refil(j) = Qcl_int;

if refill ==
%Fill up to maximum pressure of storage tank
while p_st < p_storage_tank

true

%Mass flow and work in compressor 1.

Sets mass flow in production line.

[ W_compressorl, mflow2, T_3, Tcl_int, Qcil_int ] .
= compressorl( p_2, p_3, T_2, T_3 );

mflow3 = mflow2;

%Electrolyzer

mflowl = mflow2;

[ P_electrolyzer, Q_electrolyzer ] .
= electrolysis( mflowl,

%Heat exchanger 1
[ Q_hx1, h_2 ] .
= heatexchanger ( mflowl, T_1,

%Heat exchanger 2
[ Q_hx2, h_4 ] .
= heatexchanger ( mflow3, T_3,
mflowéd = mflow3;

%Integration

T_electrolyzer );

p_1, Thxl_out );

p_3, Thx2_out );

y = yO + del_t*mflow4d.x*F;

yo =¥

%Calculating new primary and secondary states in storage tank
m_st = y(1);

u_st = y(2)/m_st;

rho_st = m_st/V_st;

T_st = T_solver(u_st, rho_st, T_st);

p_st = Props(’P’, ’D’, rho_st, ’T’, T_st, ’H2’)/(1le3);
h_st = Props(’H’, ’P’, p_st*1le3, ’T’, T_st, ’H2’);
%Flows
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p_3 = p_st;

%Profiles
t_refill(j + 1)

t_refill(j) + del_t;

mst_refill(j + 1) = m_st;
pst_refill(j + 1) = p_st;
Tst_refill(j + 1) = T_st;
mf_2_refill(j + 1) = mflow2;
T3_refill(j + 1) = T_3;
Tcl_refill(j + 1) = Tcl_int;
Wel_refill(j + 1) = W_compressori;
Pel_refill(j + 1) = P_electrolyzer;
Qel_refill(j + 1) = Q_electrolyzer;
Qhx1l_refill(j + 1) = Q_hx1;
Qhx2_refill(j + 1) = Q_hx2;
Qcl_refill(j + 1) = Qcl_int;
j =j + 1;

end

t_refill_total = t_refill(end);

disp([’Duration of refilling of storage tank was ’, num2str(t_refill_total),

end

B

s?

1)

G.2 Electrolyzer: electrolysis.m

function [ P_el, Q_gen ] = electrolysis( mflow, T )

% ELECTROLYSIS Calculates the power input and heat generated based on
% the given mass flow.

% It is assumed that the pressure and temperature in the
% stack remain constant, also during off-time.

% It is assumed that oxygen and hydrogen are ideal gases
% under these conditions and that the heat capacities are
% constant.

YA

% INPUT

% mflow Mass flow demand, [kg/s]

% T Operating temperature, [K]

)

% OUTPUT

% P_el Electical power input, [kW]

% Q_gen Heat generated, [W]

%Reference temperature [K] and pressure [MPal (standard conditions)
T_ref = 273.15 + 25;

p_ref = 0.1;

%Molar masses, [kg/mol]

Mm_h2 = Props(’H2’,’ molemass’)*le-3;

Mm_o2 = Props(’02’, molemass’)*1le-3;

Mm_h2o0 = Props (’H20’, molemass’)*le-3;

%Molar heat capacities, [kJ/K mol]

Cp_h2 = Props(’C’, ’P’, p_refxle3, ’T’, T_ref, ’H2’)*Mm_h2;
Cp_o2 = Props(’C’, ’P’, p_refx*1e3, 'T’, T_ref, ’02’)*Mm_o2;
Cp_h2o = Props(’C’, ’P’, p_refxle3, ’T’, T_ref, ’H20’)*Mm_h2o0;

%Formation enthalpy at standard conditions, [kJ/mol]
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HO_h2
HO_o2 =
HO_h2o0 =

0;
0;
-286;

%0verall electrolyzer efficiency

eta =

0.5;

%Enthalpies at new temperature, [kJ/mol]

H_h2 =
H_o2 =
H_h2o0 =

HO_h2 + Cp_h2x*(T - T_ref);
HO_o2 + Cp_o02*(T - T_ref);
HO_h20 + Cp_h20*(T - T_ref);

%Enthalpy of reaction, [kJ/moll]

del_H_rx =

0.5%*H_o02 + H_h2 - H_h20;

%Power input needed, [kW]

P_el =

mflow*del _H_rx/(Mm_h2*eta);

%Heat generated, [kW]

Q_gen =

end

(1-eta)*P_el;

G.3 Heat exchangers: heatexchanger.m

function [ Q

h_out ] = heatexchanger( mflow, T_in, p_in, T_out)

% HEATEXCHANGER Calculates the heat exchanger duty from the steady-state

INPUT
mflow
% T_in
% p_in
% T_out

% OUTPUT
% Q
% h_out

energy balance:
Q = mflow*(h_in - h_out)
It is assumed that the pressure drop is zero across the
heat exchanger, that is p_out = p_in.
The outlet temperature is predefined by the SAE TIR J2601.

Mass flow rate, [kg/s]
Inlet temperature, [K]
Inlet pressure, [MPa]
Specified outlet temp., [K]

Heat removed, [kW]
Outlet enthalpy, [kJ/kgl

%Inlet conditions
h_in = Props(’H’, ’P’, p_inx*1e3, ’'T’, T_in, ’H2’);

%0utlet conditions

p_out = p_in; % No pressure drop

h_out = Props(’H’, ’P’, p_out*le3, ’T’, T_out, ’H2’);
%Heat removed, [kW]

Q = mflow*(h_in - h_out);

end

G.4 Compressor 1: compressorl.m
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function [ W,

% COMPRESSOR1

INPUT

p_in

p_out

T_in
T_out_last

OUTPUT
%W

% mflow

% T_out

% T_int1
% Q_int

global T_amb

%Parameters

Veyl =
c =
mflow =

mflow, T_out, T_intl, Q_int ] = .
compressorl( p_in, p_out, T_in, T_out_last )

Calculates the shaft work for compressor 1. The
compression is considered adiabatic, and the work
is calculated from the energy balance:

W = m*( h_out(T,p) - h_in(T,p) )
The outlet enthalpy, h_out is calculated from the
isentropic efficiency and the outlet isentropic enthalpy:

h_out = ( h_out,is - h_in )/eta_is + h_in
The isentropic enthalpy is then calculated from the
outlet entropy and pressure.
The compression is performed in two stages with
intercooling.
The compression ratio in the first stage is 5.

Inlet pressure, [MPal
Outlet pressure, [MPa]
Inlet temperature, [K]
OQutlet temperature, [K]

Compressor work, [kW]

Mass flow, [kg/sl

OQutlet temperature, [K]
Intermediate temperature, [K]
Heat removed in intercooling, [Q]

2.3e-3; %Cylinder volume for both compressors, [m3]
10; %Cylinder clearance, [%]
0.017; %Constant mass flow, [kg/s]

%Heat capacities

Cp =
Cv =
gamma =

Props(’C’, ’P’, p_inx*1e3, ’'T’, T_in, ’H2’);
Props(’0’, ’P’, p_inx*1e3, ’'T’, T_in, ’H2’);
Cp/Cv;

%Compressibility factors

Zin =
Zout =

Props(’z’, ’T’, T_in, ’P’, p_inx*1e3, ’H2’);
Props(’Z’, ’T’, T_out_last, ’P’, p_out*le3d, ’'H2’);

%hhhhh%h%h%h EFFICIENCIES AND TRANSPORT %%%hhhhhhhhhhhhhsh

eta_v

eta_is =

speed =

hh D n
r =
p_int =

b hhh

e(pl, p2) (100 - p2/p1l - c*((p2/p1)~(1/gamma)...
*Zin~2/Zout"2 - 1))*le-2;

e(pl, p2) 0.1091*%(log(p2/p1))~3 -
0.5247*(log(p2/p1))~2 + 0.8577*xlog(p2/pl)+
0.3727;

@(eta, rho) mflow/(Vcyl*rhoxeta);

STAGE COMPRESSION %hh%hhhhthhhhhthhhhhhhh
5; %Compression ratio
r*p_in; %Intermediate pressure

%% INLET CONDITIONS %A hhhhhhthhhhhs

% Calculate inlet enthalpy and entropy from known T and p.

h_in =
s_in
rho_in

hhhhhhhh MASS

N =

Props(’H’, ’T’, T_in, ’P’, p_inx*1e3, ’'H2’);
Props(’S’, ’T’, T_in, ’P’, p_in*1le3, ’'H2’);
Props(’D’, ’T’, T_in, ’P’, p_in*1e3, ’'H2’);
FLOW AhhhRDIhbh LT DT Dbl D% %%

speed(eta_v(p_in, p_int), rho_in); %Compressor speed, [1/s]
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Dhhhhhh STAGE 1 Lhhhhhthhhlhhhthhhh
s_intl = s_in; %Isentropic compression
%Solving for outlet temperature instead of outlet enthalpy. Without this

%fix, it is not possible to compress to a pressure higher than 22 MPa when
%inlet pressure is 1.2 MPa.

options = optimset (’Display’, ’off’, ’TolX’, le-4);

F_int = @(x) Props(’s’, ’T’, x, ’P’, p_int*1e3, ’'H2’) - s_intl;
T_guess = T_out_last;

T_intl_is = fsolve(F_int, T_guess, options);

h_intil_is = Props(’H’, ’T’, T_intl_is, ’P’, p_int=*1e3, ’'H2’);

%Calculate real outlet enthalpy by using isentropic efficiency, [kJ/kgl
h_intl = h_in + (h_intl_is - h_in)/eta_is(p_in, p_int);

%Real intermediate temperature, [K]
T_int1 = Props(’T’, ’H’, h_intl, ’P’, p_intx*1e3, ’H2’);

%%hhh%h% INTERCOOLING %%%%AhhAhhhhhh

% Cooling down to ambient temperature

h_int2 = Props(’H’, ’T’, T_amb, ’P’, p_int*le3, ’H2’);
Q_int = mflow*(h_intl - h_int2);

hhhhhhhh STAGE 2 %hhhhhhhhhh

s_int2 = Props(’S’, ’T’, T_amb, ’'P’, p_int*le3, ’H2’);

s_out = s_int2;

F_out = @(x) Props(’s’, ’T’, x, ’P’, p_outxle3, ’H2’) - s_out;
T_out_is = fsolve(F_out, T_guess, options);

h_out_is = Props(’H’, ’T’, T_out_is, ’'P’, p_outxle3, ’H2’);

%Using isentropic efficiency to calculate real enthalpy
h_out = h_in + (h_out_is - h_in)/eta_is(p_int, p_out);

%Real outlet temperature, [K]

T_out = Props(’T’, ’H’, h_out, ’'P’, p_outxle3, ’H2’);

%%h%h%h% COMPRESSOR WORK %%AALUALNA NS

Wi = mflow*(h_intl - h_in);

w2 = mflow*(h_out - h_intl);

W = W1l + W2; %Total compressor work, [kW]
end

G.5 Reduction valve: red  valve.m

function [ mflow, T_out ] = red_valve( p_in, T_in, rho_in, p_out, Cv )
RED_VALVE Calculates the expansion of the hydrogen gas through the
reduction valve. It is assumed that the expansion
is adiabatic. That is; the flow is isenthalpic (dh = 0).
The massflow induced by the pressure difference and the
given valve coefficient (Cv) is also calculated.

ST SRS SIS ST ST sesTsYsY YT

INPUT

p_in Inlet pressure, [MPal

T_in Inlet temperature, [K]

rho_in Inlet density, [kg/m3]

p_out Outlet pressure, [MPal]

Cv Valve coefficient

OUTPUT

mflow Mass flow through valve, [kg/s]
% T_out Outlet temperature, [K]
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18

19 | AInlet conditions

20 | h_in = Props(’H’, ’P’, p_inx*1e3, ’T’, T_in, ’*H2’);
21

22 | %0utlet conditions

23 h_out = h_in;

24 | T_out = Props(’T’, ’H’, h_out, ’'P’, p_out*le3, ’H2’);

25
26 | %Mass flow

27 | mflow = Cv*sqrt (((p_in - p_out)*1e6)/rho_in)*rho_in;
28

29

30 | end

G.6 Compressor 2: compressor2.m

1 | function [ W, mflow, T_out ] = compressor2( p_in, p_out, T_in, T_out_last, N )
2 | % COMPRESSOR2 Calculates the shaft work for compressor 2. The

3 | % compression is considered adiabatic, and the work

a | % is calculated from the energy balance:

5 | W = m*( h_out(T,p) - h_in(T,p) )

6 | % The outlet enthalpy, h_out is calculated from the
71 isentropic efficiency and the outlet isentropic enthalpy:
8 | % h_out = ( h_out,is - h_in )/eta_is + h_in
9 | % The isentropic enthalpy is then calculated from the
10 | % outlet entropy and pressure.

11| %

12 | % INPUT

13 | % p_in Inlet pressure, [MPa]

14 | % p_out Outlet pressure, [MPal]

15 | % T_in Inlet temperature, [K]

16 | % T_out_last Outlet temperature, last time step, [K]

17 |%h N Strokes per minute, [1/s]

18 | %

19 | % OUTPUT

20 | h W Compressor work, [kW]

21 | % mflow Mass flow, [kg/s]

22 [ % T_out OQutlet temperature, [K]

23 | %

24 % PARAMETERS

25 | % eta_is Isentropic efficiency

26 | % eta_v Volumetric efficiency

27

28 | %4Parameters

29 | Veyl = 3.1le-4; %Cylinder volume, [m3].

30 | ¢ = 10; %Cylinder clearance, [%]

31

32 | iHeat capacities

33 | Cp = Props(’C’, ’P’, p_inx*1e3, ’'T’, T_in, ’H2’);

34 | Cv = Props(’0’, ’P’, p_inx*1e3, ’'T’, T_in, ’H2’);

35 | gamma = Cp/Cv;

36

37 | hCompressibility factors

38 | Zin = Props(’Z’, ’T’, T_in, ’P’, p_in*1e3, ’'H2’);

39 | Zout = Props(’Z’, ’T’, T_out_last, ’P’, p_out*le3d, ’'H2’);

40

ar | %%%%A%%%A%%AY% EFFICIENCIES AND TRANSPORT LALALULALALA DS DS %

42

43 | eta_v = e(pl, p2) (100 - p2/p1 - c*((p2/p1)~(1/gamma)...
44 *Zin~2/Zout"2 - 1))*le-2;

45 | eta_is = e(pl, p2) 0.1091*(log(p2/p1))~3 -

46 0.5247*(log(p2/p1))~2 + 0.8577*xlog(p2/pl)+
47 0.3727;

48 | m_flow = @(eta, rho) Vcyl*N*rhoxeta;
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%Isentropic and volumetric efficiency when out of bound
eta_is_0 = eta_is(1, 1.1); %Efficiency when p2/pl = 1.1

hhhkhhhhhh% INLET AND OUTLET CONDITIONS %h%%hhhhthhhthhhh

% Calculate inlet enthalpy and entropy from known T and p.

h_in = Props(’H’, ’T’, T_in, ’P’, p_inx*1e3, ’H2’);
s_in = Props(’S’, ’T’, T_in, ’P’, p_inx*1e3, ’H2’);
rho_in = Props(’D’, ’T’, T_in, ’P’, p_in*1e3, ’'H2’);

% Outlet conditions. Isentropic compression.
s_out = s_in;
h_out_is = Props(’H’, ’S’, s_out, ’'P’, p_outxle3, ’H2’);

%Calculate real outlet enthalpy by using isentropic efficiency
if p_out/p_in >= 1.1 && p_out/p_in <= 5

h_out = h_in + (h_out_is - h_in)/eta_is(p_in, p_out);
%Mass flow
mflow = m_flow(rho_in, eta_v(p_in, p_out));
else
h_out = h_in + (h_out_is - h_in)/eta_is_0;
mflow = m_flow(rho_in, eta_v(p_in, p_out));

end

%Real temperature out of compressor
T_out = Props(’T’, ’H’, h_out, ’'P’, p_outx*le3, ’H2’);

%Calculate compressor work
W = mflowx(h_out - h_in);

end

G.7 Compressor speed initiation: init_ n2.m

function [ N2 ] = init_n2( m_flow, p_in, T_in, rho_in )

% INIT_N2 Calcuates an initial N2 that gives the same mass flow

as flowing through the reduction valve.

At this point, the pressure in the vehicle tank is lower
than the pressure in the storage tank. Therefore, the
compression ratio (r) is set to 1.

B I I I e e

INPUT
m_flow Mass flow in reduction valve at switch, [kg/s]
p_in Inlet pressure, [MPal
T_in Inlet temperature, [K]
rho_in Inlet density, [kg/m3]
0UPUT
% N2 Compressor speed, [1/s]

global T_amb

%Parameters

Veyl = 3.1le-4; %Cylinder volume, [m3]
c = 10; %Clearance, [%]
T_out_last = T_amb;

%Heat capacities

Cp = Props(’C’, ’P’, p_inx*1e3, ’D’, rho_in, ’H2’);
Cv = Props(’0’, ’P’, p_inx*1e3, ’'D’, rho_in, ’H2’);
gamma = Cp/Cv;
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%Compression ratio
r =1; %Set outlet pressure equal to inlet pressure

%Compressibility factors

p_out = p_in*r;
Zin = Props(’Z’, ’T’, T_in, ’P’, p_in*1e3, ’'H2’);
Zout = Props(’Z’, ’T’, T_out_last, ’P’, p_out*le3d, ’'H2’);

%Volumetric efficiency
eta_v = e(r) (100 - r - c*x((r)~(1/gamma)...
*Zin~2/Zout"2 - 1))*le-2;

%Initial compressor speed
N2 = m_flow/(Vcyl*rho_inxeta_v(r));

end

G.8 Integrator: euler__integrator.m

function [ y, yO ] = euler_integrator( mflow4, h_4, ...
h_st, mflow7, h_7, yO )
% EULER_INTEGRATOR Explicit euler is used as integrator

% y(k + 1) = y(k) + del_tx*y(k)

% where y(k) = Fxv.

% y is a vector containing the conserved

% quanitites, y = [U , m]’, F is the incidence matrix

% providing the directionality of the mass flows and v is
% a transport vector, v = [m4 , m7]’.

% Because of conservation, the outlet flow of the storage
% tank is equal to the inlet flow of the vehicle tank.

A

% INPUT

% mflow4d Inlet flow of the storage tank, [kg/s]

% h_4 Inlet specific enthalpy of the storage tank, [kJ/kgl

% h_st Specific enthalpy in the storage tank, [kJ/kgl

% mflow7 Inlet flow of vehicle tank, [kg/s]

%h h_ T Inlet specific enthalpy of vehicle tank, [kJ/kgl

% yo Values from last time step, y(k).

YA

% OUTPUT

hy Updated primary states

% yo New "initial" values for next round.

global del_t

%Incidence matrix

F =[1 -1 H
h_4 -h_st H
0 1 N
0 h_7 1;

%Transport matrix
v = [ mflow4d mflow7]’;

%Euler integration

f_vector = Fx*v;

y = yo + del_t*f_vector;
yo =V

end
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G.9 Solving for new temperature: T_ solver.m

1 | function [ T ] = T_solver( u, rho, x0 )

2 | % T_SOLVER Calculates the temperature based on the updated states in the
3 % storage tank and the vehicle tank.

4 | % The specific internal energy along with the density in the
5 | h tanks are known.

6 | % fsolve is used to find what temperature corresponds to the two
71 known states.

8 | %

9 | % INPUTS

10 (% u Specific internal energy, [kJ/kgl

11 | % rho Density in tank, [kg/m3]

12 | % x0 Initial guess of temperature. The temperature found in the
13 | % previous step is used.

14 | %

15 | % OUTPUTS

16 [% T New temperature in tank, [K]

17

18 | %hfsolve settings

19 | options = optimset (’Display’, ’off’, ’TolX’, le-4);

20

21 | %Equation to be solved

22 | F = Q@(x) u - ...

23 Props('U’, ’T’, x, ’D’, rho, ’"H2’);

24

25 | hSolver

26 | T = fsolve(F, x0, options);

27

28

29

30

31 | end

G.10 Absorption refrigeration: abs_ ref.m

1 | function [ mf_nh3, Q_generator ] = abs_ref( T_amb, Q_e, Q_el, T_el, ...
2 Q_hx2, T_hx2, Q_IC, T_IC )
3 | % ABS_REF Calculating the required mass flow of NH3 to comply the

4 | % cooling demand.

5 | % Calculating the heat input required for the generator.

6 % The heat from heat exchanger 2 and the intercooler in

7% compressor 1 is used to heat up the cooling

8 | % media applied in the internal electrolyzer heat exchanger

9 | % to the required input temperature, T_input.

0 | % The cooling medium is water. The heating medium is steam.
11 % The steam is assumed to be saturated at T_input.

12 | % The temperature in the evaporator is assumed to be -45 degrees.
13 | %

14 | % INPUT

15 | % T_amb Ambient temperature, [K]

16 | % Q_e Heat that needs to be removed by the evaporator, [kW]

17 |'% Q_el Heat removed in eletrolysis, [kW]

18 |%h T_el Operating temperature of electrolyzer, [K]

19 | % Q_hx2 Heat removed in heat exchanger 2, [kW]

20 | % T_hx2 Outlet temperatureof cooling water in HX2, [K]

21 % Q_IC Heat removed in intercooling in compressor 1, [kW]

22 | % T_IC Intermediate temperature in compressor 1, [K]

23 | %

24 | % OUTPUT

25 | % mf_nh3 Required mass flow of refrigerant NH3, [kg/s]

26 | % Q_generator Required heat input to the generator, [kW]
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Db hhhhhhhhhhhhthhhh PARAMETERS %hhhhhhhhhhhhhhhhhhhhh

T_cw = T_amb; %Cooling water temperature

%Coefficient of performance based on cooling water temepratures
if T_cw < 273 + 20

cop = 0.45;

elseif 273 + 20 <= T_cw && T_cw < 273 + 30
CoP = 0.4;

else
caop = 0.3;

end

%Required input temperature and corresponding enthalpies based on
%cooling temperatures.
if T_cw <= 273 + 15

%T_input = 273 + 150;

p_cw = 0.48; %Saturation pressure, [MPa]

%Enthalpies of water at 4.8 bar and 150 degrees C, [kJ/kgl
%(Saturated state)

h_1_cw = 633.5;

h_v_cw = 2746;

elseif 273 + 15 < T_cw <= 273 + 20
%T_input = 273 + 160;
p_cw = 0.62;

%Enthalpies of water at 6.2 bar and 160 degrees, [kJ/kgl
h_1_cw = 670.4;
h_v_cw = 2756;

elseif 273 + 21 <= T_cw <= 273 + 25

%T_input = 273 + 175;
p_cw = 0.9;
%Enthalpies of water at 9 bar and 175 degrees, [kJ/kgl
h_1l_cw = 742.6;
h_v_cw = 2772;
else
%T_input = 273 + 186;
p_cw = 1.19;
%Enthalpies of water at 11.9 bar and 186 degrees, [kJ/kgl]
h_1_cw = 790;
h_v_cw = 2781;

end

%Cooling water
h_cw_0 = Props(’H’, ’P’, p_cw*xle3, ’T’, T_cw, ’H207);

Db hhhhhhhhhhhhhhhh EVAPORATOR %%%hhhhhhhhh®hhhhh®hhhhhhhhnhhsh

%Specific enthalpy for liquid and vapor ammonia, [kJ/kgl. Ref: NIST
h_1_nh3 = -965.06; % T = -45degC, p = 0.545 bar

h_v_nh3 = 437.67;

%Energy balance evaporator where Q_e is the cooling demand.

%The required ammonia mass flow in the refrigeration cycle is calculated.
mf_nh3 = Q_e/(h_v_nh3 - h_1_nh3);

hhhhhhhhhhhhhhhh GENERATOR %%hhthhhhhhhhthhhthhhthhhhhhhhhhh

%Required heat input in generator
Q_generator = Q_e/COP;

%Required steam mass flow
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mf_gen = Q_generator/(h_v_cw - h_1l_cw);
disp([’Required mass flow of steam is ’, num2str(mf_gen), ’ kg/s’])

Dttt hehhhhhhh ELECTROLYZER %h%hhhhhhhh oot hehtshthhhhhhhh

%Need to heat the cooling water coming from the electrolyzer to T_input.
%Therefore, it is necessary to calculate how much heat is needed

%to produce the required steam flow, mf_gen.

%Enthalpies

h_1_el = Props(’H’, ’P’, p_cw*le3, ... %Hot water from elect.
T, T_el, ’'H207);

h_v_el = h_v_cw; %After heating up to T_input

%Available mass flow from electrolyzer
mf_el = Q_el/(h_1l_el - h_cw_0);

if mf_el < mf_gen
disp(’Mass flow from electrolyzer cooling is not sufficient’)
return %Break if mass flow is not sufficient
else
disp([’Available mass flow from electrolyzer cooling is ’, ...
num2str (mf_el), ’ kg/s’]1);
end

%Required heat from hx2 to heat up to necessary temperature
Q_req_hx2 = mf_gen*(h_v_el - h_1_el);

Dbt hhhhhhhhhhhhh% HEAT EXCHANGER 2 UhU%hhhhhhhhhhhhhhhhhhsh

%Enthalpies
h_1_hx2 = h_cw_O0; %Cooling water at ambient temp.
h_v_hx2 = Props(’H’, ’P’, p_cw*le3,

’T’, T_hx2, ’H20’); %Outlet cooling water conditions

%Mass flow of available water for heating the electrolyzer flow
mf_hx2 = Q_hx2/(h_v_hx2 - h_1_hx2);

%Heat that can be used for heating at the required temperature
Q_hx2_avail = -mf_hx2*(h_1l_cw - h_v_hx2);

%Mass flow of water required from heat exchanger 2
mf_req_hx2 = -Q_req_hx2/(h_l_el - h_v_hx2);

disp([’The required mass flow from heat exchanger 2 is ’, ...
num2str (mf_req_hx2), ’ kg/s’])

disp([’The available mass flow from heat exchanger 2 is 7, .
num2str (mf_hx2), ° kg/s’1)

hhhthththhhhhhhhh’s HEAT EXCHANGER 2 + INTERCOOLER %%%h%h%hhhhhi

h_1_ic = h_cw_O0; %Inlet conditions intercooler

h_v_ic = Props(’H’, ’T’, T_IC, ... %0utlet conditions intercooler
'P’, p_cwxle3, ’H20’);

%Mass flow in intercooler
mf_ic = Q_IC/(h_v_ic - h_1_ic);

%Heat that can be used for heating at the required temperature
Q_ic_avail = -mf_ic*(h_l_cw - h_v_ic);

%Mixing these two flows together

mf_hx2_ic = mf_ic + mf_hx2;
h_hx2_ic = (mf_ic*h_v_ic + mf_hx2*h_v_hx2)/mf_hx2_ic;
T_hx2_ic = Props(’T’, ’P’, p_cw*le3, ... %Combined flow temperature

’H’, h_hx2_ic, ’H20");

%Required mass flow from heat exchanger 2 + intercooler
mf_req_hx2_ic = -Q_req_hx2/(h_1_el - h_hx2_ic);
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disp([’The required mass flow from heat exchanger 2 plus the

intercooler is

, num2str (mf_req_hx2_ic), ’ kg/s’])
disp([’The available mass flow from heat exchanger 2 plus the intercooler is

, num2str (mf_hx2_ic),

end

> kg/s’1)

)

)
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